BANK BRADESCO Form 6-K March 14, 2016

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of March, 2016 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

(x) Controller's

Openning Balance

Group and Family Dependants

Common Shares

Non-Voting Shares

		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	1,844,382,928 56,949,357 Closing Balance	73.0632 2.2559	36.5316 1.1279
	_	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total

1,844,382,928

56,949,357

73.0632

2.2559

36.5316

1.1279

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Company. Banco Bra	auesco S.A.					/\ T	
Group and Family Dependants	(x)Board of Directors	() Board of Exec Officers	cutive	() Aud Commi		() Technica Adviso Agenci	ry
		Openning Bala	nce				
						% of partici	pation
Ту	pe of Securities/	Derivatives		Quant	ity	Same type of Shares	Total
	Common Sh	ares		15,1	79,982	0.6013	0.3006
	Non-Voting S	hares		24,2	54,704	0.9608	0.4804
	_	Month Movem	ent				
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in	R\$
Non-Voting Shares	Е	Buy	5-Feb	1,877	19.43	R\$ 36.	470.11
Non-Voting Shares		Buy	5-Feb	958	19.44		623.52
Non-Voting Shares		Buy	5-Feb	301	19.45		854.45
Non-Voting Shares	Е	Buy	5-Feb	212	19.46	R\$ 4,	125.52
Non-Voting Shares	E	Buy	5-Feb	387	19.47	R\$ 7,	534.89
Non-Voting Shares	E	Buy	5-Feb	1,676	19.48	R\$ 32,	648.48
Non-Voting Shares	E	Buy	5-Feb	821	19.49	R\$ 16,	001.29
Non-Voting Shares	E	Buy	5-Feb	206	19.50	R\$ 4,	017.00
Non-Voting Shares	E	Buy	5-Feb	137	19.51	R\$ 2,	672.87
Non-Voting Shares	E	Buy	5-Feb	851	19.52	R\$ 16,	611.52
Non-Voting Shares	E	Buy	5-Feb	641	19.53	R\$ 12,	518.73
Non-Voting Shares	E	Buy	5-Feb	1,255	19.54	R\$ 24,	522.70
Non-Voting Shares	E	Buy	5-Feb	882	19.55	R\$ 17,	243.10
Non-Voting Shares	E	Buy	5-Feb	650	19.56	R\$ 12,	714.00
Non-Voting Shares	E	Buy	5-Feb	476	19.57	R\$ 9,	315.32
Non-Voting Shares	E	Buy	5-Feb	479	19.58	R\$ 9,	378.82
Non-Voting Shares	E	Buy	5-Feb	630	19.59	R\$ 12,	341.70
Non-Voting Shares	E	Buy	5-Feb	44	19.60	R\$	862.40
Non-Voting Shares	E	Buy	5-Feb	413	19.61	R\$ 8,	098.93
Non-Voting Shares	E	Buy	5-Feb	285	19.62	R\$ 5,	591.70
Non-Voting Shares	E	Buy	5-Feb	128	19.63	R\$ 2,	512.64

	_				
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	707	19.66	R\$ 13,899.62
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	129	19.68	R\$ 2,538.72
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	470	19.74	R\$ 9,277.80
Non-Voting Shares		5-Feb	201	19.75	R\$ 3,969.75
•	Buy				
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	79	19.79	R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	265	19.85	R\$ 5,260.25
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	737	19.88	R\$ 14,651.56
Non-Voting Shares	Buy	5-Feb	1,150	19.89	R\$ 22,873.50
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,302	19.92	R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb	344	19.93	R\$ 6,855.92
Non-Voting Shares	Buy	5-Feb	377	19.94	R\$ 7,517.38
Non-Voting Shares	Buy	5-Feb	861	19.95	R\$ 17,176.95
Non-Voting Shares	_	5-Feb	35	19.96	R\$ 698.60
•	Buy				
Non-Voting Shares	Buy	5-Feb	2,233		R\$ 44,593.01
Non-Voting Shares	Buy	5-Feb	3,012		R\$ 60,179.76
Non-Voting Shares	Buy	5-Feb		19.49	R\$ 9,355.20
Non-Voting Shares	Buy	5-Feb		19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	849	19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb	641	19.53	R\$ 12,518.73
Non-Voting Shares	Buy	5-Feb	1,256		R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	481	19.58	R\$ 9,417.98
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
	= - ,	- · • •	. –	- ·	

					_
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
•	•				
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,303	19.92	R\$ 25,955.76
Non-Voting Shares	Buy	5-Feb	341	19.93	R\$ 6,796.13
Non-Voting Shares	Buy	5-Feb	362	19.94	R\$ 7,218.28
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	479	19.49	R\$ 9,335.71
Non-Voting Shares	Buy	5-Feb	206	19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb		19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb		19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb		19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb		19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
•	•		415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb			
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40

Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	734	19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,302	19.92	R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb	342	19.92	R\$ 6,816.06
Non-Voting Shares	Buy	5-Feb	361	19.94	R\$ 7,198.34
Non-Voting Shares	Buy	5-Feb	4	19.95	R\$ 79.80
•		5-Feb	946	19.43	R\$ 18,380.78
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	959	19.44	R\$ 18,642.96
Non-Voting Shares	Buy	5-Feb	300	19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb	212	19.46	R\$ 4,125.52
Non-Voting Shares	Buy	5-Feb	388	19.47	R\$ 7,554.36
Non-Voting Shares	Buy	5-Feb	1,674		R\$ 32,609.52
Non-Voting Shares	Buy	5-Feb		19.49	R\$ 16,001.29
Non-Voting Shares	Buy	5-Feb		19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb		19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	849	19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb	641	19.53	R\$ 12,518.73
Non-Voting Shares	Buy	5-Feb	•	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb		19.56	R\$ 12,753.12
Non-Voting Shares	Buy	5-Feb		19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb		19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb		19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,731.35
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94

Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	•	5-Feb	1	19.81	R\$ 19.81
_	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	229	19.83 19.84	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260		R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	734	19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,027	19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb	1,302	19.92	R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb	343	19.93	R\$ 6,835.99
Non-Voting Shares	Buy	5-Feb	379	19.94	R\$ 7,557.26
Non-Voting Shares	Buy	5-Feb	859	19.95	R\$ 17,137.05
Non-Voting Shares	Buy	5-Feb	37	19.96	R\$ 738.52
Non-Voting Shares	Buy	5-Feb	2,231	19.97	R\$ 44,553.07
Non-Voting Shares	Buy	5-Feb	1,958	19.98	R\$ 39,120.84
Non-Voting Shares	Buy	5-Feb	41	19.44	R\$ 797.04
Non-Voting Shares	Buy	5-Feb	300	19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb	212	19.46	R\$ 4,125.52
Non-Voting Shares	Buy	5-Feb	388	19.47	R\$ 7,554.36
Non-Voting Shares	Buy	5-Feb	1,675	19.48	R\$ 32,629.00
Non-Voting Shares	Buy	5-Feb	820	19.49	R\$ 15,981.80
Non-Voting Shares	Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,255	19.54	R\$ 24,522.70
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,532.84
Sang Sharoo	20,	0.00	_5_	. 3.3_	

Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	734	19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,155	19.89	R\$ 22,972.95
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,300	19.92	R\$ 25,896.00
Non-Voting Shares	Buy	5-Feb	347	19.93	R\$ 6,915.71
Non-Voting Shares	-	5-Feb	376	19.94	R\$ 7,497.44
Non-Voting Shares	Buy Buy	5-Feb	859	19.95	R\$ 17,137.05
-	-	5-Feb		19.96	R\$ 738.52
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	2,093		R\$ 41,797.21
Non-Voting Shares	Buy	5-Feb	16	19.98	R\$ 319.68
Non-Voting Shares	Buy	5-Feb	41	19.44	R\$ 797.04
Non-Voting Shares	Buy	5-Feb	300	19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb	212	19.46	R\$ 4,125.52
Non-Voting Shares	Buy	5-Feb	387	19.47	R\$ 7,534.89
Non-Voting Shares	Buy	5-Feb	1,676	19.48	R\$ 32,648.48
Non-Voting Shares	Buy	5-Feb	820	19.49	R\$ 15,981.80
Non-Voting Shares	Buy	5-Feb	206	19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	879	19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82

Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	•	5-Feb	53	19.82	R\$ 1,050.46
•	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	
Non-Voting Shares	Buy				R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb		19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,302		R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb		19.93	R\$ 6,895.78
Non-Voting Shares	Buy	5-Feb		19.94	R\$ 7,457.56
Non-Voting Shares	Buy	5-Feb	859	19.95	R\$ 17,137.05
Non-Voting Shares	Buy	5-Feb	38	19.96	R\$ 758.48
Non-Voting Shares	Buy	5-Feb	2,091	19.97	R\$ 41,757.27
Non-Voting Shares	Buy	5-Feb	18	19.98	R\$ 359.64
Non-Voting Shares	Buy	5-Feb	41	19.44	R\$ 797.04
Non-Voting Shares	Buy	5-Feb	299	19.45	R\$ 5,815.55
Non-Voting Shares	Buy	5-Feb	213	19.46	R\$ 4,144.98
Non-Voting Shares	Buy	5-Feb		19.47	R\$ 7,554.36
Non-Voting Shares	Buy	5-Feb		19.48	R\$ 32,629.00
Non-Voting Shares	Buy	5-Feb	821	19.49	R\$ 16,001.29
Non-Voting Shares	Buy	5-Feb	205	19.50	R\$ 3,997.50
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb		19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24

Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	282	19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares		5-Feb	141	19.65	R\$ 2,770.65
<u> </u>	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,155		R\$ 22,972.95
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,299	19.92	R\$ 25,876.08
Non-Voting Shares	Buy	5-Feb	346	19.93	R\$ 6,895.78
Non-Voting Shares	Buy	5-Feb	376	19.94	R\$ 7,497.44
Non-Voting Shares	-	5-Feb	859	19.95	R\$ 17,137.05
<u> </u>	Buy	5-Feb	39	19.96	R\$ 778.44
Non-Voting Shares	Buy	5-Feb			
Non-Voting Shares	Buy		2,094	19.97	R\$ 41,817.18
Non-Voting Shares	Buy	5-Feb		19.98	R\$ 299.70
Non-Voting Shares	Buy	5-Feb		19.44	R\$ 816.48
Non-Voting Shares	Buy	5-Feb	300	19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb	213	19.46	R\$ 4,144.98
Non-Voting Shares	Buy	5-Feb	387	19.47	R\$ 7,534.89
Non-Voting Shares	Buy	5-Feb	•	19.48	R\$ 32,629.00
Non-Voting Shares	Buy	5-Feb	821	19.49	R\$ 16,001.29
Non-Voting Shares	Buy	5-Feb	205	19.50	R\$ 3,997.50

Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	-	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.79	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy		53		
Non-Voting Shares	Buy	5-Feb 5-Feb		19.82 19.83	R\$ 1,050.46 R\$ 4,541.07
<u> </u>	Buy				
Non-Voting Shares	Buy	5-Feb		19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	733	19.88	R\$ 14,572.04
Non-Voting Shares	Buy	5-Feb	1,154	19.89	R\$ 22,953.06
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	•		R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb	344	19.93	R\$ 6,855.92
Non-Voting Shares	Buy	5-Feb	378	19.94	R\$ 7,537.32
Non-Voting Shares	Buy	5-Feb	857	19.95	R\$ 17,097.15
Non-Voting Shares	Buy	5-Feb	39	19.96	R\$ 778.44
Non-Voting Shares	Buy	5-Feb	2,095	19.97	R\$ 41,837.15
Non-Voting Shares	Buy	5-Feb	15	19.98	R\$ 299.70
Non-Voting Shares	Total		204,607		R\$ 4,035,260.97
Non-Voting Shares	Transfer Causa-Mortis	1-Feb	1,183		R\$ -
Non-Voting Shares Banco		1-Feb	1,183		R\$ -
Bradesco	S.A.				

Non-Voting Shares	Transfer Causa-Mortis	1-Feb	1,183	R\$ -
Non-Voting Shares	Total		3,549	R\$ -
	Closing Balance	•		
				% of participation
Type of Securities/Derivatives			Quantity	Same type of Shares
C	Common Shares		15,179,982	0.6013 0.3006
No	on-Voting Shares		24,455,762	0.9687 0.4843

Company: Bradesc					
Group and Family Dependants	y (x)Board of () Board of Executive Directors Officers		() Audit Committee	() Technical and Advisory Agencies	
		Openning Balance			_
				%	of participation
Т	Type of Securities/	Derivatives	Quantity		me type Shares
Common Shares				0	0.0000 0.0000
	Non-Voting S	hares		0	0.0000 0.0000
		Closing Balance			
				%	of participation
Т	Type of Securities/	Derivatives	Quantity		me type Shares Total
	Common Sh	ares		0	0.0000 0.0000
	Non-Voting S	hares		0	0.0000 0.0000

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Brad	desco S.A.					
Group and Family Dependants	()Board of Directors	(X) Board of E Officer		() Aud Commi		() Technical and Advisory Agencies
		Openning B	alance			
						% of participation
Туре	of Securities/De	erivatives		Quant	ity	Same type of Shares Total
	Common Shar				38,825	
	Non-Voting Sha			2,4	97,496	0.0989 0.0494
		Month Move	ement			
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$
Common Shares		Buy	26-Feb	1	22.41	R\$ 22.41
Common Shares		Total		1		R\$ 22.41
Non-Voting Shares		Buy	5-Feb	478		' '
Non-Voting Shares		Buy	5-Feb	207	19.50	' '
Non-Voting Shares		Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares		Buy	5-Feb	850		' '
Non-Voting Shares		Buy	5-Feb	640		' '
Non-Voting Shares		Buy	5-Feb	1,256		• •
Non-Voting Shares		Buy	5-Feb	880		' '
Non-Voting Shares		Buy	5-Feb	650		• •
Non-Voting Shares		Buy	5-Feb	475		' '
Non-Voting Shares		Buy	5-Feb	479		• •
Non-Voting Shares		Buy	5-Feb	631	19.59	' '
Non-Voting Shares		Buy	5-Feb	45		•
Non-Voting Shares		Buy	5-Feb	413		R\$ 8,098.93
Non-Voting Shares		Buy	5-Feb	284		' '
Non-Voting Shares		Buy	5-Feb	129		• •
Non-Voting Shares		Buy	5-Feb	71	19.64	' '
Non-Voting Shares		Buy	5-Feb	141	19.65	. ,
Non-Voting Shares		Buy	5-Feb	709		
Non-Voting Shares		Buy	5-Feb	331	19.67	R\$ 6,510.77

	_				54 0 550 40
Non-Voting Shares	Buy	5-Feb		19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	736	19.88	R\$ 14,631.68
Non-Voting Shares	_	5-Feb	1,152	19.89	R\$ 22,913.28
_	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	1,027	19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb	1,304	19.92	R\$ 25,975.68
Non-Voting Shares	Buy	5-Feb	340	19.93	R\$ 6,776.20
Non-Voting Shares	Buy	5-Feb	361	19.94	R\$ 7,198.34
Non-Voting Shares	Buy	5-Feb	4	19.95	R\$ 79.80
Non-Voting Shares	Buy	5-Feb	480	19.49	R\$ 9,355.20
Non-Voting Shares	Buy	5-Feb	206	19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	849	19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb		19.54	R\$ 24,561.78
Non-Voting Shares	Buy	5-Feb		19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
14011 Voling Onales	Бау	J-1 G D	200	10.11	1 ιψ +,555.50

Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	736	19.88	R\$ 14,631.68
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,027	19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb	1,301	19.92	R\$ 25,915.92
Non-Voting Shares	Buy	5-Feb	345	19.93	R\$ 6,875.85
Non-Voting Shares	Buy	5-Feb	360	19.94	R\$ 7,178.40
Non-Voting Shares	Buy	5-Feb	4	19.95	R\$ 79.80
Non-Voting Shares	Buy	5-Feb	478	19.49	R\$ 9,316.22
Non-Voting Shares	Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb		19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	411	19.61	R\$ 8,059.71
Non-Voting Shares	Buy	5-Feb	290	19.62	R\$ 5,689.80
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb		19.75	R\$ 3,930.25
. 1011 Totaling Orlaines	Day	3 1 60	100	. 5.7 5	1 (φ 0,000.20

Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	736	19.88	R\$ 14,631.68
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb		19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb	1,3027	19.92	R\$ 25,935.84
•	Buy	5-Feb	344	19.93	R\$ 6,855.92
Non-Voting Shares	•				
Non-Voting Shares	Buy	5-Feb	360	19.94	R\$ 7,178.40
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	479	19.49	R\$ 9,335.71
Non-Voting Shares	Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	849	19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb	641	19.53	R\$ 12,518.73
Non-Voting Shares	Buy	5-Feb	•	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	879	19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	282	19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb		19.79	R\$ 1,583.20
	Bay	0100	00	. 5.7 5	1.ψ 1,000.20

	5		000	40.00	D# 7.704.00
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,303	19.92	R\$ 25,955.76
Non-Voting Shares	Buy	5-Feb	341	19.93	R\$ 6,796.13
Non-Voting Shares	Buy	5-Feb	362	19.94	R\$ 7,218.28
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	478	19.49	R\$ 9,316.22
Non-Voting Shares	Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	•	5-Feb	475	19.57	R\$ 9,295.75
_	Buy	5-Feb	473	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	
Non-Voting Shares	Buy	5-Feb	44	19.59	R\$ 12,361.29
Non-Voting Shares	Buy				R\$ 862.40
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
-	•				

Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	737	19.88	R\$ 14,651.56
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,304	19.92	R\$ 25,975.68
Non-Voting Shares	Buy	5-Feb	343	19.93	R\$ 6,835.99
Non-Voting Shares	Buy	5-Feb	359	19.94	R\$ 7,158.46
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	363	19.53	R\$ 7,089.39
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	410	19.61	R\$ 8,040.10
Non-Voting Shares	Buy	5-Feb	289	19.62	R\$ 5,670.18
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	73	19.64	R\$ 1,433.72
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb		19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb		19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,154	19.89	R\$ 22,953.06
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb		19.91	R\$ 20,208.65
Tion voing onales	Биу	J-1 G D	1,013	10.01	ι ιψ 20,200.03

Non-Voting Shares	Buy	5-Feb		19.53	R\$ 7,147.98
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	•	5-Feb	709	19.66	R\$ 13,938.94
•	Buy				
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb		19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,572.04
Non-Voting Shares	Buy	5-Feb	1,155		R\$ 22,972.95
Non-Voting Shares	Buy	5-Feb	•	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb		19.91	R\$ 20,268.38
Non-Voting Shares	-	5-Feb	•	19.49	
<u> </u>	Buy				R\$ 9,355.20
Non-Voting Shares	Buy	5-Feb		19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb		19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb		19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb		19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb		19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb		19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb		19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80

Non-Voting Shares		_				
Non-Voting Shares Buy S-Feb 72 19.64 R\$ 1,41.08 Non-Voting Shares Buy S-Feb 72 19.64 R\$ 1,41.08 R\$ 2,731.35 Non-Voting Shares Buy S-Feb 73 19.65 R\$ 1,3978.26 Non-Voting Shares Buy S-Feb 330 19.67 R\$ 13,978.26 Non-Voting Shares Buy S-Feb 330 19.67 R\$ 4,91.10 Non-Voting Shares Buy S-Feb 330 19.68 R\$ 2,558.40 Non-Voting Shares Buy S-Feb 340 19.68 R\$ 2,558.40 Non-Voting Shares Buy S-Feb 341 19.69 R\$ 6,714.29 Non-Voting Shares Buy S-Feb 320 19.71 R\$ 4,533.30 Non-Voting Shares Buy S-Feb 343 19.72 R\$ 4,533.30 Non-Voting Shares Buy S-Feb 343 19.72 R\$ 6,63.96 Non-Voting Shares Buy S-Feb 343 19.72 R\$ 6,6017.65 Non-Voting Shares Buy S-Feb 340 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 340 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 340 19.74 R\$ 9,337.02 Non-Voting Shares Buy S-Feb 340 19.76 R\$ 5,157.50 Non-Voting Shares Buy S-Feb 340 19.76 R\$ 5,153.30 Non-Voting Shares Buy S-Feb 340 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 340 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 340 19.79 R\$ 1,583.00 Non-Voting Shares Buy S-Feb 340 19.80 R\$ 7,616.60 Non-Voting Shares Buy S-Feb 340 19.80 R\$ 7,616.60 Non-Voting Shares Buy S-Feb 340 19.80 R\$ 7,616.60 Non-Voting Shares Buy S-Feb 340 19.80 R\$ 1,630.40 R\$ 1,630.40 R\$ 1,630.40 R\$ 1,930 R\$ 1,630.00 R\$ 1,930 R\$ 1,630.00 R\$ 1,930 R\$ 1,630.00 R\$ 1,930 R\$ 1,930.00 R\$ 1,	Non-Voting Shares	Buy	5-Feb			R\$ 8,177.37
Non-Voting Shares Non-Voting Shares Non-Voting Shares Buy S-Feb 139 19.65 R\$ 2,731.35 Non-Voting Shares Buy S-Feb 130 19.67 R\$ 6,491.10 Non-Voting Shares Buy S-Feb 130 19.67 R\$ 6,491.10 Non-Voting Shares Buy S-Feb 130 19.68 R\$ 2,731.35 R\$ 13,978.26 Non-Voting Shares Buy S-Feb 130 19.68 R\$ 6,558.40 Non-Voting Shares Buy S-Feb 130 19.68 R\$ 6,6714.29 Non-Voting Shares Buy S-Feb 22 19.70 R\$ 433.40 Non-Voting Shares Buy S-Feb 230 19.71 R\$ 4,533.30 Non-Voting Shares Buy S-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 199 19.75 R\$ 3,930.25 Non-Voting Shares Buy S-Feb 305 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 305 19.78 R\$ 1,832.80 Non-Voting Shares Buy S-Feb 305 19.78 R\$ 1,832.80 Non-Voting Shares Buy S-Feb 305 19.88 R\$ 1,80.81 Non-Voting Shares Buy S-Feb 307 19.80 R\$ 1,832.80 Non-Voting Shares Buy S-Feb 308 19.79 R\$ 1,583.20 Non-Voting Shares Buy S-Feb 309 19.80 R\$ 1,80.81 Non-Voting Shares Buy S-Feb 309 19.80 R\$ 1,80.80 R\$ 1,40.80 R\$ 1,	•	•				
Non-Voting Shares	-	Buy				
Non-Voting Shares Buy 5-Feb 711 19.66 R\$ 13.978.26 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 341 19.69 R\$ 6,714.29 Non-Voting Shares Buy 5-Feb 230 19.71 R\$ 4,533.30 Non-Voting Shares Buy 5-Feb 230 19.71 R\$ 4,533.30 Non-Voting Shares Buy 5-Feb 230 19.71 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 361 19.74 R\$ 9,337.02 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 361 19.77 R\$ 6,247.32 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 260 19.84 R\$ 5,158.40 Non-Voting Shares Buy 5-Feb 260 19.84 R\$ 5,158.40 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 5,830.70		Buy				
Non-Voting Shares Buy S-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy S-Feb 341 19.69 R\$ 6,714.29 Non-Voting Shares Buy S-Feb 341 19.69 R\$ 433.40 Non-Voting Shares Buy S-Feb 343 Non-Voting Shares Buy S-Feb 344 19.72 R\$ 6,763.30 Non-Voting Shares Buy S-Feb 305 Non-Voting Shares Buy S-Feb 307 Non-Voting Shares Buy S-Feb 308 Non-Voting Shares Buy S-Feb 199 19.75 R\$ 3,330.25 Non-Voting Shares Buy S-Feb 199 19.75 R\$ 3,330.25 Non-Voting Shares Buy S-Feb 199 19.76 R\$ 5,157.36 Non-Voting Shares Buy S-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 392 19.80 R\$ 7,815.83.20 Non-Voting Shares Buy S-Feb 393 19.81 R\$ 1,981 Non-Voting Shares Buy S-Feb 393 19.83 R\$ 4,541.07 Non-Voting Shares Buy S-Feb 398 R\$ 1,853.58 Non-Voting Shares Buy S-Feb 399 19.83 R\$ 4,541.07 Non-Voting Shares Buy S-Feb 399 19.80 R\$ 5,280.10 Non-Voting Shares Buy S-Feb 309 19.80 R\$ 1,663.82 Non-Voting Shares Buy S-Feb 309 R\$ 1,863.82 Non-Voting Shares Buy S-Feb 309 R\$ 1,863.82 Non-Voting Shares Buy S-Feb 309 R\$ 1,863.82 Non-Voting Shares Buy S-Feb 309 R\$ 1,863.83 R\$ 1,4611.80 Non-Voting Shares Buy S-Feb 309 R\$ 2,2893.39 Non-Voting Shares Buy S-Feb 309 R\$ 2,280.70 R\$ 2,280.70 R\$ 2,260.70 R\$ 2,260.70 R\$ 2,260.70 R\$ 3,260.70 R\$ 3,260.70 R\$ 3,260.70 R\$ 3,260.70 R\$ 3,260.70 R\$ 3,260.70 R\$ 3,26	Non-Voting Shares	Buy	5-Feb	139	19.65	R\$ 2,731.35
Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 6,714.29	Non-Voting Shares	Buy	5-Feb	711	19.66	R\$ 13,978.26
Non-Voting Shares Buy S-Feb 341 19.69 R\$ 6,714.29 Non-Voting Shares Buy S-Feb 22 19.70 R\$ 433.40 Non-Voting Shares Buy S-Feb 303 19.71 R\$ 4,533.30 Non-Voting Shares Buy S-Feb 303 19.72 R\$ 6,763.96 Non-Voting Shares Buy S-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 473 19.74 R\$ 9,337.02 Non-Voting Shares Buy S-Feb 199 19.75 R\$ 3,930.25 Non-Voting Shares Buy S-Feb 199 19.75 R\$ 5,157.36 Non-Voting Shares Buy S-Feb 316 19.77 R\$ 6,247.32 Non-Voting Shares Buy S-Feb 316 19.77 R\$ 6,247.32 Non-Voting Shares Buy S-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy S-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy S-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy S-Feb 392 19.83 R\$ 4,541.07 Non-Voting Shares Buy S-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy S-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy S-Feb 266 19.85 R\$ 5,158.40 Non-Voting Shares Buy S-Feb 266 19.85 R\$ 5,158.40 Non-Voting Shares Buy S-Feb 373 19.86 R\$ 1,636.82 Non-Voting Shares Buy S-Feb 373 19.86 R\$ 1,636.82 Non-Voting Shares Buy S-Feb 393 19.98 R\$ 1,636.82 Non-Voting Shares Buy S-Feb 393 19.99 R\$ 5,158.30 Non-Voting Shares Buy S-Feb 393 19.99 R\$ 1,638.30 Non-Voting Shares Buy S-Feb 393 19.99 R\$ 1,639.30 Non-Voting Shares Buy S-Feb 393 19.99 R\$ 1,639.30 Non-Voting Shares Buy S-Feb 393 19.99 R\$ 1,639.30 Non-Voting Shares Buy S-Feb 393 19.99 R\$ 5,830.30 Non-Voting Shares Buy S-Feb 361 19.94 R\$ 2,0467.48 Non-Voting Shares Buy S-Feb 361 19.95 R\$ 5,830.30 Non-Voting Shares Buy S-Feb 361 19.95 R\$ 5,830.30 Non-Voting Shares Buy S-Feb 361 19.95 R\$ 1,19.80 R	Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares Buy 5-Feb 22 19.70 R\$ 433.40	Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares Buy 5-Feb 230 19.71 R\$ 4,533.30 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,0763.96 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 473 19.74 R\$ 9,337.02 Non-Voting Shares Buy 5-Feb 199 19.75 R\$ 3,390.25 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 316 19.77 R\$ 6,247.32 Non-Voting Shares Buy 5-Feb 316 19.77 R\$ 6,247.32 Non-Voting Shares Buy 5-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,781.30 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 737 19.86 R\$ 14,638.82 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,638.82 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,638.82 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,638.82 Non-Voting Shares Buy 5-Feb 361 19.91 R\$ 20,467.48 Non-Voting Shares Buy 5-Feb 361 19.91 R\$ 20,467.48 Non-Voting Shares Buy 5-Feb 361 19.91 R\$ 20,467.48 Non-Voting Shares Buy 5-Feb 361 19.92 R\$ 5,2893.39 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.34 Non-Voting Shares Buy 5-Feb 361 19.95 R\$ 5,280.70 Non-Voting Shares Buy 5-Feb 361 19.56 R\$ 1,23.35 Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,	Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares Buy 5-Feb 305 19.73 R\$,6,017.65 Non-Voting Shares Buy 5-Feb 305 19.73 R\$,6,017.65 R\$,337.02 Non-Voting Shares Buy 5-Feb 199 19.75 R\$,3,330.25 Non-Voting Shares Buy 5-Feb 199 19.76 R\$,3,330.25 Non-Voting Shares Buy 5-Feb 316 19.77 R\$,6,247.32 Non-Voting Shares Buy 5-Feb 305 19.78 R\$,7,61.30 Non-Voting Shares Buy 5-Feb 305 19.78 R\$,7,61.30 Non-Voting Shares Buy 5-Feb 309 19.78 R\$,7,61.30 Non-Voting Shares Buy 5-Feb 309 19.79 R\$,1,583.20 Non-Voting Shares Buy 5-Feb 19.80 R\$,7,61.60 Non-Voting Shares Buy 5-Feb 19.80 R\$,1,630.40 Non-Voting Shares Buy 5-Feb 19.80 R\$,1,630.40 Non-Voting Shares Buy 5-Feb 209 R\$,1,630.40 Non-Voting Shares Buy 5-Feb 209 R\$,1,630.80 Non-Voting Shares Buy 5-Feb 206 R\$,1,630.80 Non-Voting Shares Buy 5-Feb 206 R\$,1,630.80 Non-Voting Shares Buy 5-Feb 207 R\$,1,630.80 Non-Voting Shares Buy 5-Feb 208 R\$,5,280.10 Non-Voting Shares Buy 5-Feb 209 R\$,5,280.10 Non-Voting Shares Buy 5-Feb 209 R\$,5,280.10 Non-Voting Shares Buy 5-Feb 209 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 209 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 309 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 309 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 309 R\$,1,630.70 Non-Voting Shares Buy 5-Feb 309 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 309 R\$,1,630.82 Non-Voting Shares Buy 5-Feb 301 R\$,2,930.39 Non-Voting Shares Buy 5-Feb 301 R\$,2,947.48 R\$,2,947	Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares Buy S-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy S-Feb 473 19.74 R\$ 9,3370.25 Non-Voting Shares Buy S-Feb 261 19.76 R\$ 3,930.25 Non-Voting Shares Buy S-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy S-Feb 316 19.77 R\$ 6,247.32 Non-Voting Shares Buy S-Feb 395 19.78 R\$ 7,7813.10 Non-Voting Shares Buy S-Feb 395 19.78 R\$ 7,7813.10 Non-Voting Shares Buy S-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy S-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy S-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy S-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy S-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy S-Feb 260 19.84 R\$ 5,158.40 Non-Voting Shares Buy S-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy S-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy S-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy S-Feb 266 19.85 R\$ 14.636.82 Non-Voting Shares Buy S-Feb 305 19.87 R\$ 14.636.82 Non-Voting Shares Buy S-Feb 737 19.86 R\$ 14.636.82 Non-Voting Shares Buy S-Feb 735 19.88 R\$ 14.611.80 Non-Voting Shares Buy S-Feb 293 19.90 R\$ 5,2893.39 Non-Voting Shares Buy S-Feb 305 19.87 R\$ 15,995.35 Non-Voting Shares Buy S-Feb 301 19.92 R\$ 22,893.39 Non-Voting Shares Buy S-Feb 301 19.92 R\$ 23,915.92 Non-Voting Shares Buy S-Feb 301 19.92 R\$ 25,915.92 Non-Voting Shares Buy S-Feb 301 19.92 R\$ 25,915.92 Non-Voting Shares Buy S-Feb 301 19.94 R\$ 7,198.34 Non-Voting Shares Buy S-Feb 301 19.95 R\$ 5,836 Non-Voting Shares Buy S-Feb 301 19.95 R\$ 7,198.34 Non-Voting Shares Buy S-Feb 301 19.95 R\$ 7,198.34 Non-Voting Shares Buy S-Feb 301 19.95 R\$ 7,198.34 Non-Voting Shares Buy S-Feb 301 19.55 R\$ 1,7,184.45 Non-Voting Shares Buy S-Feb 474 19.57 R\$	Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares Buy S-Feb 473 19.74 R\$ 9,337.02 Non-Voting Shares Buy S-Feb 199 19.75 R\$ 3,930.25 Non-Voting Shares Buy S-Feb 316 19.77 R\$ 6,247.32 Non-Voting Shares Buy S-Feb 316 19.77 R\$ 6,247.32 Non-Voting Shares Buy S-Feb 315 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy S-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy S-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy S-Feb 19.81 R\$ 19.81 R\$ 19.81 Non-Voting Shares Buy S-Feb 53 19.22 R\$ 1,050.46 Non-Voting Shares Buy S-Feb 53 19.22 R\$ 1,050.46 Non-Voting Shares Buy S-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy S-Feb 260 19.84 R\$ 5,158.40 Non-Voting Shares Buy S-Feb 737 19.86 R\$ 14,636.82 Non-Voting Shares Buy S-Feb 737 19.86 R\$ 14,636.82 Non-Voting Shares Buy S-Feb 737 19.86 R\$ 14,636.82 Non-Voting Shares Buy S-Feb 1,151 19.89 R\$ 22,893.39 Non-Voting Shares Buy S-Feb 1,151 19.89 R\$ 22,893.39 Non-Voting Shares Buy S-Feb 1,102 19.91 R\$ 20,467.48 Non-Voting Shares Buy S-Feb 344 19.93 R\$ 6,855.92 Non-Voting Shares Buy S-Feb 341 19.92 R\$ 25,915.92 Non-Voting Shares Buy S-Feb 361 19.94 R\$ 7,189.34 Non-Voting Shares Buy S-Feb 361 19.47 R\$ 6,242.24 Non-Voting Shares Buy S-Feb 474 19.57 R\$ 9,276.18 Non-Voting Shares Buy S-Feb 474 19.57	Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares Buy S-Feb 473 19.74 R\$ 9,337.02	-	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares Buy 5-Feb 199 19.75 R\$ 3,390.25 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 316 19.77 R\$ 6,247.32 Non-Voting Shares Buy 5-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy 5-Feb 302 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 392 19.83 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 260 19.84 R\$ 5,158.40 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 805 19.87 R\$ 15,995.35	-	-	5-Feb	473	19.74	
Non-Voting Shares						
Non-Voting Shares Buy 5-Feb 316 19.77 R\$ 6,247.32	•					
Non-Voting Shares Buy 5-Feb 395 19.78 R\$ 7,813.10	•					
Non-Voting Shares Buy 5-Feb 80 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 19.81 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 260 19.84 R\$ 5,158.40 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 737 19.86 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 735 19.86 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 30 19.87 R\$ 15,995.35 Non-Voting Shares Buy 5-Feb 1,51 19.89 R\$ 22,893.39	-	•				· · ·
Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 1 19.81 R\$ 19.81 Non-Voting Shares Buy 5-Feb 31 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 260 19.84 R\$ 5,158.40 Non-Voting Shares Buy 5-Feb 260 19.84 R\$ 5,158.40 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 377 19.86 R\$ 15,995.35 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,631.80 Non-Voting Shares Buy 5-Feb 1,151 19.89 R\$ 22,893.39 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 22,893.39						
Non-Voting Shares Buy 5-Feb 1 19.81 R\$ 19.81 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 260 19.84 R\$ 5,158.40 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 737 19.86 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 805 19.87 R\$ 15,995.35 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,611.80 Non-Voting Shares Buy 5-Feb 293 19.90 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 20,467.48 Non-Voting Shares Buy 5-Feb 301 19.92 R\$ 20,915.92		•				
Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 260 19.85 R\$ 5,158.40 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 737 19.86 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 735 19.87 R\$ 15,995.35 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,611.80 Non-Voting Shares Buy 5-Feb 1,511 19.89 R\$ 22,893.39 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,201 19.92 R\$ 22,893.39 Non-Voting Shares Buy 5-Feb 1,201 19.92 R\$ 2,5		-				
Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 260 19.84 R\$ 5,158.40 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 737 19.86 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,611.80 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,611.80 Non-Voting Shares Buy 5-Feb 293 19.90 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 20,467.48 Non-Voting Shares Buy 5-Feb 1,301 19.92 R\$ 25,915.92 Non-Voting Shares Buy 5-Feb 361 19.93 R\$ 6,855.92 Non-Voting Shares Buy 5-Feb 361 19.93 R\$ 7,198.	•	•				
Non-Voting Shares Buy 5-Feb 260 19.84 R\$ 5,158.40 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 737 19.86 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 805 19.87 R\$ 15,995.35 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,611.80 Non-Voting Shares Buy 5-Feb 735 19.89 R\$ 22,893.39 Non-Voting Shares Buy 5-Feb 293 19.90 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 22,893.39 Non-Voting Shares Buy 5-Feb 1,028 19.90 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 22,467.48 Non-Voting Shares Buy 5-Feb 361 19.91 R\$ 25,915.92 Non-Voting Shares Buy 5-Feb 361 19.93 R\$ 6,8		•				
Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 737 19.86 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 805 19.87 R\$ 15,995.35 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,611.80 Non-Voting Shares Buy 5-Feb 1,151 19.89 R\$ 22,893.39 Non-Voting Shares Buy 5-Feb 293 19.90 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 20,467.48 Non-Voting Shares Buy 5-Feb 1,021 19.92 R\$ 25,915.92 Non-Voting Shares Buy 5-Feb 344 19.93 R\$ 6,855.92 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.34 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 1,256 19.54 R\$ 24	-	-				
Non-Voting Shares Buy 5-Feb 737 19.86 R\$ 14,636.82 Non-Voting Shares Buy 5-Feb 805 19.87 R\$ 15,995.35 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,611.80 Non-Voting Shares Buy 5-Feb 1,151 19.99 R\$ 22,893.39 Non-Voting Shares Buy 5-Feb 293 19.90 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 22,893.39 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 344 19.91 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 344 19.93 R\$ 6,855.92 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.34 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 2,1	-					
Non-Voting Shares Buy 5-Feb 805 19.87 R\$ 15,995.35 Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,611.80 Non-Voting Shares Buy 5-Feb 1,151 19.89 R\$ 22,893.39 Non-Voting Shares Buy 5-Feb 293 19.90 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 20,467.48 Non-Voting Shares Buy 5-Feb 1,301 19.92 R\$ 25,915.92 Non-Voting Shares Buy 5-Feb 344 19.93 R\$ 6,855.92 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.34 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 879 19.55 R\$ 17,18	•					
Non-Voting Shares Buy 5-Feb 735 19.88 R\$ 14,611.80 Non-Voting Shares Buy 5-Feb 1,151 19.89 R\$ 22,893.39 Non-Voting Shares Buy 5-Feb 293 19.90 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 20,467.48 Non-Voting Shares Buy 5-Feb 1,301 19.92 R\$ 25,915.92 Non-Voting Shares Buy 5-Feb 344 19.93 R\$ 6,855.92 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.92 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 479 19.55 R\$ 12,735	•					
Non-Voting Shares Buy 5-Feb 1,151 19.89 R\$ 22,893.39 Non-Voting Shares Buy 5-Feb 293 19.90 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 20,467.48 Non-Voting Shares Buy 5-Feb 1,301 19.92 R\$ 25,915.92 Non-Voting Shares Buy 5-Feb 344 19.93 R\$ 6,855.92 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.34 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.34 Non-Voting Shares Buy 5-Feb 364 19.93 R\$ 5,859.22 Non-Voting Shares Buy 5-Feb 364 19.93 R\$ 5,859.22 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 479 19.55 R\$ 17,184.	-	•				
Non-Voting Shares Buy 5-Feb 293 19.90 R\$ 5,830.70 Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 20,467.48 Non-Voting Shares Buy 5-Feb 1,301 19.92 R\$ 25,915.92 Non-Voting Shares Buy 5-Feb 344 19.93 R\$ 6,855.92 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.34 Non-Voting Shares Buy 5-Feb 361 19.95 R\$ 59.85 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 369 19.54 R\$ 24,542.24 Non-Voting Shares Buy 5-Feb 479 19.55 R\$ 17,184.45 Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,276.18 <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td>		-				
Non-Voting Shares Buy 5-Feb 1,028 19.91 R\$ 20,467.48 Non-Voting Shares Buy 5-Feb 1,301 19.92 R\$ 25,915.92 Non-Voting Shares Buy 5-Feb 344 19.93 R\$ 6,855.92 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.34 Non-Voting Shares Buy 5-Feb 3 19.95 R\$ 59.85 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 379 19.55 R\$ 17,108.92 Non-Voting Shares Buy 5-Feb 879 19.55 R\$ 17,184.45 Non-Voting Shares Buy 5-Feb 879 19.55 R\$ 17,184.45 Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,359.24 <						
Non-Voting Shares Buy 5-Feb 1,301 19.92 R\$ 25,915.92 Non-Voting Shares Buy 5-Feb 344 19.93 R\$ 6,855.92 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.34 Non-Voting Shares Buy 5-Feb 3 19.95 R\$ 59.85 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 1,256 19.54 R\$ 24,542.24 Non-Voting Shares Buy 5-Feb 879 19.55 R\$ 17,184.45 Non-Voting Shares Buy 5-Feb 651 19.56 R\$ 12,733.56 Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,359.24 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 12,380.88 Non-Voting Shares Buy 5-Feb 43 19.60 R\$ 842.80	•					• •
Non-Voting Shares Buy 5-Feb 344 19.93 R\$ 6,855.92 Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.34 Non-Voting Shares Buy 5-Feb 3 19.95 R\$ 59.85 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 1,256 19.54 R\$ 24,542.24 Non-Voting Shares Buy 5-Feb 879 19.55 R\$ 17,184.45 Non-Voting Shares Buy 5-Feb 651 19.56 R\$ 12,733.56 Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,359.24 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,359.24 Non-Voting Shares Buy 5-Feb 478 19.59 R\$ 12,380.88 Non-Voting Shares Buy 5-Feb 43 19.60 R\$ 842.80	•					· · ·
Non-Voting Shares Buy 5-Feb 361 19.94 R\$ 7,198.34 Non-Voting Shares Buy 5-Feb 3 19.95 R\$ 59.85 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 1,256 19.54 R\$ 24,542.24 Non-Voting Shares Buy 5-Feb 879 19.55 R\$ 17,184.45 Non-Voting Shares Buy 5-Feb 651 19.56 R\$ 12,733.56 Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,359.24 Non-Voting Shares Buy 5-Feb 632 19.59 R\$ 12,380.88 Non-Voting Shares Buy 5-Feb 43 19.60 R\$ 842.80 Non-Voting Shares Buy 5-Feb 416 19.61 R\$ 8,157.76 Non-Voting Shares Buy 5-Feb 128 19.62 R\$ 5,572.08	-					
Non-Voting Shares Buy 5-Feb 3 19.95 R\$ 59.85 Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 1,256 19.54 R\$ 24,542.24 Non-Voting Shares Buy 5-Feb 879 19.55 R\$ 17,184.45 Non-Voting Shares Buy 5-Feb 651 19.56 R\$ 12,733.56 Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.59 R\$ 12,733.56 Non-Voting Shares Buy 5-Feb 632 19.59 R\$ 12,380.88 Non-Voting Shares Buy 5-Feb 43 19.60 R\$ 8,42.80 Non-Voting Shares Buy 5-Feb 284 19.61 R\$ 5,572.08	•					
Non-Voting Shares Buy 5-Feb 364 19.53 R\$ 7,108.92 Non-Voting Shares Buy 5-Feb 1,256 19.54 R\$ 24,542.24 Non-Voting Shares Buy 5-Feb 879 19.55 R\$ 17,184.45 Non-Voting Shares Buy 5-Feb 651 19.56 R\$ 12,733.56 Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,359.24 Non-Voting Shares Buy 5-Feb 632 19.59 R\$ 12,380.88 Non-Voting Shares Buy 5-Feb 43 19.60 R\$ 842.80 Non-Voting Shares Buy 5-Feb 416 19.61 R\$ 8,157.76 Non-Voting Shares Buy 5-Feb 284 19.62 R\$ 5,572.08 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08						
Non-Voting Shares Buy 5-Feb 1,256 19.54 R\$ 24,542.24 Non-Voting Shares Buy 5-Feb 879 19.55 R\$ 17,184.45 Non-Voting Shares Buy 5-Feb 651 19.56 R\$ 12,733.56 Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,359.24 Non-Voting Shares Buy 5-Feb 632 19.59 R\$ 12,380.88 Non-Voting Shares Buy 5-Feb 43 19.60 R\$ 842.80 Non-Voting Shares Buy 5-Feb 416 19.61 R\$ 8,157.76 Non-Voting Shares Buy 5-Feb 284 19.62 R\$ 5,572.08 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94	•					
Non-Voting Shares Buy 5-Feb 879 19.55 R\$ 17,184.45 Non-Voting Shares Buy 5-Feb 651 19.56 R\$ 12,733.56 Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,359.24 Non-Voting Shares Buy 5-Feb 632 19.59 R\$ 12,380.88 Non-Voting Shares Buy 5-Feb 43 19.60 R\$ 842.80 Non-Voting Shares Buy 5-Feb 416 19.61 R\$ 8,157.76 Non-Voting Shares Buy 5-Feb 284 19.62 R\$ 5,572.08 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 70 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 70 19.66 R\$ 13,938.94	•					
Non-Voting Shares Buy 5-Feb 651 19.56 R\$ 12,733.56 Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,359.24 Non-Voting Shares Buy 5-Feb 632 19.59 R\$ 12,380.88 Non-Voting Shares Buy 5-Feb 43 19.60 R\$ 842.80 Non-Voting Shares Buy 5-Feb 416 19.61 R\$ 8,157.76 Non-Voting Shares Buy 5-Feb 284 19.62 R\$ 5,572.08 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 70 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 70 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	-	•				
Non-Voting Shares Buy 5-Feb 474 19.57 R\$ 9,276.18 Non-Voting Shares Buy 5-Feb 478 19.58 R\$ 9,359.24 Non-Voting Shares Buy 5-Feb 632 19.59 R\$ 12,380.88 Non-Voting Shares Buy 5-Feb 43 19.60 R\$ 842.80 Non-Voting Shares Buy 5-Feb 416 19.61 R\$ 8,157.76 Non-Voting Shares Buy 5-Feb 284 19.62 R\$ 5,572.08 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77		-				
Non-Voting SharesBuy5-Feb47819.58R\$ 9,359.24Non-Voting SharesBuy5-Feb63219.59R\$ 12,380.88Non-Voting SharesBuy5-Feb4319.60R\$ 842.80Non-Voting SharesBuy5-Feb41619.61R\$ 8,157.76Non-Voting SharesBuy5-Feb28419.62R\$ 5,572.08Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77	•					
Non-Voting SharesBuy5-Feb63219.59R\$ 12,380.88Non-Voting SharesBuy5-Feb4319.60R\$ 842.80Non-Voting SharesBuy5-Feb41619.61R\$ 8,157.76Non-Voting SharesBuy5-Feb28419.62R\$ 5,572.08Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77	•					
Non-Voting Shares Buy 5-Feb 43 19.60 R\$ 842.80 Non-Voting Shares Buy 5-Feb 416 19.61 R\$ 8,157.76 Non-Voting Shares Buy 5-Feb 284 19.62 R\$ 5,572.08 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	•					
Non-Voting Shares Buy 5-Feb 416 19.61 R\$ 8,157.76 Non-Voting Shares Buy 5-Feb 284 19.62 R\$ 5,572.08 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	-	•				
Non-Voting Shares Buy 5-Feb 284 19.62 R\$ 5,572.08 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	-	Buy				
Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	Non-Voting Shares		5-Feb			R\$ 2,512.64
Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
·	•		5-Feb	331	19.67	
	Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40

Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,015	19.91	R\$ 20,208.65
Non-Voting Shares	Buy	5-Feb	1	19.49	R\$ 19.49
Non-Voting Shares	Buy	5-Feb	364	19.53	R\$ 7,108.92
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Non-Voting Shares		5-Feb	471	19.73	R\$ 9,297.54
<u> </u>	Buy	5-Feb			
Non-Voting Shares	Buy	5-Feb	200 261	19.75	R\$ 3,950.00
Non-Voting Shares	Buy			19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20

Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	733	19.88	R\$ 14,572.04
Non-Voting Shares	Buy	5-Feb	1,154	19.89	R\$ 22,953.06
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,016	19.91	R\$ 20,228.56
Non-Voting Shares	Buy	5-Feb	363	19.53	R\$ 7,089.39
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	21	19.70	R\$ 413.70
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	730	19.88	R\$ 14,512.40
Non-Voting Shares	Buy	5-Feb	1,158	19.89	R\$ 23,032.62
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb		19.91	R\$ 20,208.65
. ton toning onares	Buy	3 1 60	1,010	. 5.5 1	. ιψ 20,200.00

Non-Voting Shares	Buy	5-Feb	363	19.53	R\$ 7,089.39
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb		19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,512.40
Non-Voting Shares	Buy	5-Feb	1,158	19.89	R\$ 23,032.62
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,015	19.91	R\$ 20,208.65
Non-Voting Shares	Buy	5-Feb	366	19.53	R\$ 7,147.98
Non-Voting Shares	Buy	5-Feb		19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	282	19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Tion voing onales	Биу	3-1 G D	12	13.04	τιψ 1,414.00

Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	738	19.88	R\$ 14,671.44
Non-Voting Shares	Buy	5-Feb	1,150	19.89	R\$ 22,873.50
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,017	19.91	R\$ 20,248.47
Non-Voting Shares	Buy	5-Feb	366	19.53	R\$ 7,147.98
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	649	19.56	R\$ 12,694.44
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	-	5-Feb	72	19.64	R\$ 1,414.08
	Buy	5-Feb	141	19.65	
Non-Voting Shares	Buy		708	19.66	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb			R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67 19.68	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130		R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36

Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	738	19.88	R\$ 14,671.44
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,017	19.91	R\$ 20,248.47
Non-Voting Shares	Buy	5-Feb	1	19.43	R\$ 19.43
Non-Voting Shares	Buy	5-Feb	773	19.55	R\$ 15,112.15
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	-	5-Feb	318	19.77	R\$ 6,286.86
	Buy	5-Feb	393	19.77	
Non-Voting Shares	Buy		80		R\$ 7,773.54 R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.79	
Non-Voting Shares	Buy	5-Feb	2	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb		19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	736	19.88	R\$ 14,631.68
Non-Voting Shares	Buy	5-Feb	/13	19.89	R\$ 14,181.57

	_				
Non-Voting Shares	Buy	5-Feb		19.55	R\$ 15,131.70
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	478	19.58	R\$ 9,359.24
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	289	19.62	R\$ 5,670.18
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	315	19.77	R\$ 6,227.55
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	81	19.79	R\$ 1,602.99
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,552.16
Non-Voting Shares	Buy	5-Feb		19.89	R\$ 14,241.24
Non-Voting Shares	Buy	5-Feb	775	19.55	R\$ 15,151.25
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	71	19.64	R\$ 1,394.44
•	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb 5-Feb	709	19.66	
Non-Voting Shares	Buy		331	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb			R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10

Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	733	19.88	R\$ 14,572.04
Non-Voting Shares	Buy	5-Feb	716	19.89	R\$ 14,241.24
Non-Voting Shares	Buy	5-Feb	775	19.55	R\$ 15,151.25
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	41	19.60	R\$ 803.60
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
_	•	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb 5-Feb	141	19.65	
Non-Voting Shares	Buy				R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb		19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82

	_				
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	738	19.88	R\$ 14,671.44
Non-Voting Shares	Buy	5-Feb	711	19.89	R\$ 14,141.79
Non-Voting Shares	Buy	5-Feb	775	19.55	R\$ 15,151.25
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	•	5-Feb	22	19.70	R\$ 433.40
•	Buy				
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	737	19.88	R\$ 14,651.56
Non-Voting Shares	Buy	5-Feb	711	19.89	R\$ 14,141.79
Non-Voting Shares	Buy	5-Feb	369	19.58	R\$ 7,225.02
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	•	5-Feb	72	19.64	R\$ 1,414.08
_	Buy	5-Feb	140	19.65	
Non-Voting Shares	Buy				R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40

Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	194	19.87	R\$ 3,854.78
Non-Voting Shares	Buy	5-Feb	1	19.58	R\$ 19.58
Non-Voting Shares	Buy	5-Feb	140	19.61	R\$ 2,745.40
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	126	19.63	R\$ 2,473.38
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24
Non-Voting Shares	Buy	5-Feb		19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb		19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	81	19.79	R\$ 1,602.99
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	2	19.81	R\$ 39.62
•	Buy	5-Feb	53	19.82	
Non-Voting Shares	Buy				R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	197	19.84	R\$ 3,908.48
Non-Voting Shares	Buy	5-Feb	346	19.59	R\$ 6,778.14
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77

Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	293	19.86	R\$ 5,818.98
Non-Voting Shares	Buy	5-Feb	50	19.64	R\$ 982.00
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	332	19.67	R\$ 6,530.44
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 6,207.78
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 7,832.88
_				19.76	
Non-Voting Shares	Buy	5-Feb	79		R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	332	19.80	R\$ 6,573.60
Non-Voting Shares	Buy	5-Feb	1	19.58	R\$ 19.58
Non-Voting Shares	Buy	5-Feb	140	19.61	R\$ 2,745.40
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	126	19.63	R\$ 2,473.38
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24

Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	81	19.79	R\$ 1,602.99
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	197	19.84	R\$ 3,908.48
Non-Voting Shares	Buy	5-Feb	348	19.59	R\$ 6,817.32
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	286	19.62	R\$ 5,611.32
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares		5-Feb	72	19.64	R\$ 1,414.08
<u> </u>	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	
Non-Voting Shares	Buy				R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	393	19.80	R\$ 7,781.40
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	295	19.86	R\$ 5,858.70
Non-Voting Shares	Buy	5-Feb	5	19.56	R\$ 97.80
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb		19.68	R\$ 2,558.40
	= 3.7	2 . 30		2.20	

Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	793	19.87	R\$ 15,756.91
Non-Voting Shares	Buy	5-Feb	6	19.56	R\$ 117.36
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	282	19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	794	19.87	R\$ 15,776.78

Non-Voting Shares	Buy	5-Feb	1	19.58	R\$ 19.58
Non-Voting Shares	Buy	5-Feb	136	19.61	R\$ 2,666.96
Non-Voting Shares	Buy	5-Feb	287	19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	707	19.66	R\$ 13,899.62
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	197	19.84	R\$ 3,908.48
Non-Voting Shares	Buy	5-Feb	187	19.57	R\$ 3,659.59
Non-Voting Shares	Buy	5-Feb	478	19.58	R\$ 9,359.24
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	288	19.62	R\$ 5,650.56
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	-	5-Feb	317	19.77	R\$ 6,267.09
<u> </u>	Buy		394	19.77	
Non-Voting Shares	Buy	5-Feb 5-Feb	80	19.76	R\$ 7,793.32
Non-Voting Shares	Buy				R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392 1	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	-	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28

	_				
Non-Voting Shares	Buy	5-Feb		19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	492	19.87	R\$ 9,776.04
Non-Voting Shares	Buy	5-Feb	135	19.61	R\$ 2,647.35
Non-Voting Shares	Buy	5-Feb	289	19.62	R\$ 5,670.18
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.72	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24
•	•	5-Feb	197	19.74	R\$ 3,890.75
Non-Voting Shares Non-Voting Shares	Buy	5-Feb	261	19.75	R\$ 5,157.36
•	Buy				• •
Non-Voting Shares	Buy	5-Feb	314	19.77	R\$ 6,207.78
Non-Voting Shares	Buy	5-Feb	396	19.78	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	196	19.84	R\$ 3,888.64
Non-Voting Shares	Buy	5-Feb	1	19.56	R\$ 19.56
Non-Voting Shares	Buy	5-Feb	347	19.59	R\$ 6,797.73
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb		19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394		R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb		19.79	R\$ 1,583.20
	zay	2.35		. 3.7 0	

N	Б.	5.5.1	000	40.00	D# 7 704 00
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	294	19.86	R\$ 5,838.84
Non-Voting Shares	Buy	5-Feb	10	19.57	R\$ 195.70
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	342	19.69	R\$ 6,733.98
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	469	19.74	R\$ 9,258.06
_	Buy	5-Feb	203	19.74	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	262	19.75	
Non-Voting Shares	Buy	5-Feb	318	19.70	R\$ 5,177.12
Non-Voting Shares	Buy				R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb		19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb		19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb		19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	310	19.87	R\$ 6,159.70
Non-Voting Shares	Buy	5-Feb	101	19.65	R\$ 1,984.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 6,267.09
9	- ,				. ,

Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	241	19.80	R\$ 4,771.80
Non-Voting Shares	Buy	5-Feb	103	19.65	R\$ 2,023.95
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	24	19.70	R\$ 472.80
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	243	19.80	R\$ 4,811.40
Non-Voting Shares	Buy	5-Feb	345	19.59	R\$ 6,758.55
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	410	19.61	R\$ 8,040.10
Non-Voting Shares	Buy	5-Feb	288	19.62	R\$ 5,650.56
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	-	5-Feb	141	19.65	R\$ 2,770.65
•	Buy	5-Feb	709	19.66	
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 13,938.94 R\$ 6,510.77
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	315	19.77	R\$ 6,227.55
Non-Voting Shares	Buy	5-Feb	396	19.78	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	293	19.86	R\$ 5,818.98
Non-Voting Shares	Buy	5-Feb	6	19.56	R\$ 117.36
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29

Non-Voting Shares	Buy	5-Feb		19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	286	19.62	R\$ 5,611.32
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	795	19.87	R\$ 15,796.65
Non-Voting Shares	Buy	5-Feb	100	19.65	R\$ 1,965.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	200	19.75	R\$ 3,950.00
•	Buy	5-Feb	261	19.75	R\$ 5,157.36
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	316	19.77 19.78	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395		R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	241	19.80	R\$ 4,771.80
Non-Voting Shares	Buy	5-Feb	44	19.64	R\$ 864.16
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10

Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	325	19.80	R\$ 6,435.00
Non-Voting Shares	Buy	5-Feb	349	19.59	R\$ 6,836.91
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	410	19.61	R\$ 8,040.10
Non-Voting Shares	Buy	5-Feb	288	19.62	R\$ 5,650.56
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.72	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	315	19.77	R\$ 6,227.55
Non-Voting Shares	_	5-Feb	396	19.77	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	80	19.76	R\$ 1,583.20
•	Buy	5-Feb	391	19.79	
Non-Voting Shares	Buy	5-Feb		19.81	R\$ 7,741.80 R\$ 39.62
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb		19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	_	19.86	R\$ 5,878.56
Non-Voting Shares	Buy	5-Feb	1	19.55	R\$ 19.55
Non-Voting Shares	Buy	5-Feb	346	19.59	R\$ 6,778.14
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	287	19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40

Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	294	19.86	R\$ 5,838.84
Non-Voting Shares	Buy	5-Feb	1	19.58	R\$ 19.58
Non-Voting Shares	Buy	5-Feb	345	19.59	R\$ 6,758.55
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.72	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	471	19.73	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201		R\$ 3,969.75
_					
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77 19.78	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393		R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	293	19.86	R\$ 5,818.98
Non-Voting Shares	Buy	5-Feb	188	19.57	R\$ 3,679.16
Non-Voting Shares	Buy	5-Feb	478	19.58	R\$ 9,359.24
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70

Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	263	19.76	R\$ 5,196.88
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	493	19.87	R\$ 9,795.91
Non-Voting Shares	Buy	5-Feb	7	19.56	R\$ 136.92
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ ^{842.80}
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	281	19.62	R\$ 5,513.22
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb		19.81	R\$ 39.62
14011 Voling Onales	Биу	J-1 G D	_	10.01	ι (ψ 03.02

Non-Voting Shares	Buy	5-Feb		19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	794	19.87	R\$ 15,776.78
Non-Voting Shares	Buy	5-Feb	1	19.56	R\$ 19.56
Non-Voting Shares	Buy	5-Feb	368	19.58	R\$ 7,205.44
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	281	19.62	R\$ 5,513.22
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	263	19.76	R\$ 5,196.88
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb		19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb		19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb		19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 3,854.78
Non-Voting Shares	Buy	5-Feb		19.58	R\$ 7,244.60
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Вuy	5-Feb 5-Feb	22	19.70	R\$ 433.40
_		5-Feb 5-Feb	231	19.70	R\$ 4,553.01
Non-Voting Shares	Buy	5-reb	۷۵۱	13./1	TQ 4,333.01

Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	195	19.87	R\$ 3,874.65
Non-Voting Shares	Buy	5-Feb	101	19.65	R\$ 1,984.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	241	19.80	R\$ 4,771.80
Non-Voting Shares	Buy	5-Feb	1	19.53	R\$ 19.53
Non-Voting Shares	Buy	5-Feb	8	19.56	R\$ 156.48
Non-Voting Shares	Buy	5-Feb		19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	281	19.62	R\$ 5,513.22
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
J	- ,			_	, -,-

Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	796	19.87	R\$ 15,816.52
Non-Voting Shares	Buy	5-Feb	6	19.56	R\$ 117.36
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	286	19.62	R\$ 5,611.32
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb		19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb		19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,796.65
Non-Voting Shares	Buy	5-Feb	1	19.60	R\$ 19.60
Non-Voting Shares	Buy	5-Feb	140	19.61	R\$ 2,745.40
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	-	5-Feb		19.64	R\$ 1,414.08
rion-voing snares	Buy	5-reb	12	13.04	1 τφ 1,414.00

Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	329	19.67	R\$ 6,471.43
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	390	19.80	R\$ 7,722.00
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	198	19.84	R\$ 3,928.32
Non-Voting Shares	Buy	5-Feb	102	19.65	R\$ 2,004.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	79	19.79	R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	243	19.80	R\$ 4,811.40
Non-Voting Shares	Buy	5-Feb	1	19.59	R\$ 19.59
Non-Voting Shares	Buy	5-Feb	136	19.61	R\$ 2,666.96
Non-Voting Shares	Buy	5-Feb	288	19.62	R\$ 5,650.56
Non-Voting Shares	Buy	5-Feb	126	19.63	R\$ 2,473.38
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	707	19.66	R\$ 13,899.62
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24

Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	197	19.84	R\$ 3,908.48
Non-Voting Shares	Buy	5-Feb	5	19.56	R\$ 97.80
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
•	· · · · · · · · · · · · · · · · · · ·	5-Feb	341	19.69	
Non-Voting Shares	Buy				R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb 5-Feb	22 230	19.70	R\$ 433.40
Non-Voting Shares	Buy			19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb		19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb		19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb		19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,776.78
Non-Voting Shares	Buy	5-Feb	133	19.61	R\$ 2,608.13
Non-Voting Shares	Buy	5-Feb	287	19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60

Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	390	19.80	R\$ 7,722.00
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	195	19.84	R\$ 3,868.80
Non-Voting Shares	Buy	5-Feb	6	19.56	R\$ 117.36
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb		19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	793	19.87	R\$ 15,756.91
Non-Voting Shares	Buy	5-Feb	1	19.57	R\$ 19.57
Non-Voting Shares	Buy	5-Feb	368	19.58	R\$ 7,205.44
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	41	19.60	R\$ 803.60
14011 ¥ Otting Offices	Бау	3 1 60	71	10.00	1 (φ 000.00

Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
•		5-Feb	259	19.84	
Non-Voting Shares	Buy		266		R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	737	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb		19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	193	19.87	R\$ 3,834.91
Non-Voting Shares	Buy	5-Feb	133	19.61	R\$ 2,608.13
Non-Voting Shares	Buy	5-Feb	287	19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb		19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	390	19.80	R\$ 7,722.00
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	195	19.84	R\$ 3,868.80
-	•				*

Non-Voting Shares	Buy	5-Feb		19.61	R\$ 2,588.52
Non-Voting Shares	Buy	5-Feb	290	19.62	R\$ 5,689.80
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	707	19.66	R\$ 13,899.62
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	132	19.68	R\$ 2,597.76
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	195	19.84	R\$ 3,868.80
<u> </u>	· · · · · · · · · · · · · · · · · · ·	5-Feb	193	19.51	R\$ 19.51
Non-Voting Shares	Buy	5-Feb	367	19.58	R\$ 7,185.86
Non-Voting Shares	Buy	5-Feb	631	19.59	
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 12,361.29
Non-Voting Shares	Buy				R\$ 842.80
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	281	19.62	R\$ 5,513.22
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	263	19.76	R\$ 5,196.88
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
-	•				

	_				54 5 466 56
Non-Voting Shares	Buy	5-Feb		19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	194	19.87	R\$ 3,854.78
Non-Voting Shares	Buy	5-Feb	1	19.50	R\$ 19.50
Non-Voting Shares	Buy	5-Feb	346	19.59	R\$ 6,778.14
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
•	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	•				
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	294	19.86	R\$ 5,838.84
Non-Voting Shares	Buy	5-Feb	137	19.61	R\$ 2,686.57
Non-Voting Shares	Buy	5-Feb	286	19.62	R\$ 5,611.32
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,793.32
. Ton Voling Onales	Бау	3 1 60	00 1	10.70	1 (ψ 7,7 30.02

	_				
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	196	19.84	R\$ 3,888.64
Non-Voting Shares	Buy	5-Feb	8	19.62	R\$ 156.96
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	321	19.77	R\$ 6,346.17
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	41	19.83	R\$ 813.03
Non-Voting Shares	Buy	5-Feb	541	19.66	R\$ 10,636.06
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb		19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	314	19.77	R\$ 6,207.78
Non-Voting Shares	Buy	5-Feb	396	19.78	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	79	19.79	R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	15	19.80	R\$ 297.00
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb		19.66	R\$ 10,655.72
•	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	130 341	19.68 19.69	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23		R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	345	19.72	R\$ 6,803.40
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65

Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	15	19.80	R\$ 297.00
Non-Voting Shares	Buy	5-Feb	10	19.62	R\$ 196.20
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	70	19.64	R\$ 1,374.80
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	41	19.83	R\$ 813.03
Non-Voting Shares	Buy	5-Feb	1	19.62	R\$ 19.62
Non-Voting Shares	Buy	5-Feb	542	19.66	R\$ 10,655.72
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	16	19.80	R\$ 316.80
Non-Voting Shares	Buy	5-Feb	1	19.61	R\$ 19.61
Non-Voting Shares	•	5-Feb	10	19.62	R\$ 196.20
Non-Voting Shares	Buy Buy	5-Feb 5-Feb	129	19.62	R\$ 2,532.27
•	•			19.63	
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	/10	13.00	R\$ 13,958.60

	_				
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	339	19.69	R\$ 6,674.91
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	43	19.83	R\$ 852.69
Non-Voting Shares	Buy	5-Feb	5	19.61	R\$ 98.05
Non-Voting Shares	Buy	5-Feb	263	19.62	R\$ 5,160.06
Non-Voting Shares	•	5-Feb	128	19.62	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	
•	Buy		141		R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	228	19.71	R\$ 4,493.88
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	1	19.56	R\$ 19.56
Non-Voting Shares	Buy	5-Feb	267	19.62	R\$ 5,238.54
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb		19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 453.10
Tion voing onaics	Бау	3 1 60	20	13.70	1 (ψ +30.10

Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	390	19.80	R\$ 7,722.00
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	53	19.84	R\$ 1,051.52
Non-Voting Shares	Buy	5-Feb	102	19.65	R\$ 2,004.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	79	19.79	R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	243	19.80	R\$ 4,811.40
Non-Voting Shares	Buy	5-Feb	102	19.65	R\$ 2,004.30
Non-Voting Shares	•	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,530.44
•	Buy	5-Feb		19.67	
Non-Voting Shares	Buy				R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	314	19.77	R\$ 6,207.78
Non-Voting Shares	Buy	5-Feb	397	19.78	R\$ 7,852.66
Non-Voting Shares	Buy	5-Feb	79	19.79	R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	243	19.80	R\$ 4,811.40
Non-Voting Shares	Buy	29-Feb	10	21.35	R\$ 213.50
Non-Voting Shares	Buy	5-Feb	1	19.61	R\$ 19.61
Non-Voting Shares	Buy	5-Feb	267	19.62	R\$ 5,238.54
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08

Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	390	19.80	R\$ 7,722.00
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	53	19.84	R\$ 1,051.52
Non-Voting Shares	Buy	5-Feb	1	19.56	R\$ 19.56
Non-Voting Shares	Buy	5-Feb	6	19.61	R\$ 117.66
Non-Voting Shares	Buy	5-Feb	261	19.62	R\$ 5,120.82
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	-	5-Feb	198	19.74	R\$ 3,910.50
•	Buy Buy	5-Feb	261	19.75	R\$ 5,157.36
Non-Voting Shares Non-Voting Shares	-	5-Feb	317	19.70	
Non-Voting Shares	Buy				R\$ 6,267.09
•	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79 19.80	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391		R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	7	19.61	R\$ 137.27
Non-Voting Shares	Buy	5-Feb	261	19.62	R\$ 5,120.82
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	143	19.65	R\$ 2,809.95
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28

	_				
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
· ·		5-Feb	229	19.83	
Non-Voting Shares	Buy				R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	1	19.55	R\$ 19.55
Non-Voting Shares	Buy	5-Feb	6	19.61	R\$ 117.66
Non-Voting Shares	Buy	5-Feb	261	19.62	R\$ 5,120.82
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	1	19.55	R\$ 19.55
Non-Voting Shares	Buy	5-Feb	6	19.61	R\$ 117.66
Non-Voting Shares	-	5-Feb	261	19.62	R\$ 5,120.82
•	Buy				
Non-Voting Shares	Buy	5-Feb	128 71	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77

Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	1	19.61	R\$ 19.61
Non-Voting Shares	Buy	5-Feb	269	19.62	R\$ 5,277.78
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	342	19.69	R\$ 6,733.98
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb		19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 6,207.78
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy Buy	5-Feb	53	19.84	R\$ 1,051.52
•	-	5-Feb	3	19.61	R\$ 58.83
Non-Voting Shares	Buy	5-Feb	266	19.62	R\$ 5,218.92
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	128 72	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10

Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	8	19.61	R\$ 156.88
Non-Voting Shares	Buy	5-Feb	261	19.62	R\$ 5,120.82
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	707	19.66	R\$ 13,899.62
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.75	
<u> </u>	Buy				R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77 19.78	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393		R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb		19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	100	19.65	R\$ 1,965.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32

Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	241	19.80	R\$ 4,771.80
Non-Voting Shares	Buy	5-Feb	7	19.61	R\$ 137.27
Non-Voting Shares	Buy	5-Feb	261	19.62	R\$ 5,120.82
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	7	19.61	R\$ 137.27
Non-Voting Shares	Buy	5-Feb	, 261	19.62	R\$ 5,120.82
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.70	R\$ 4,513.59
Non-Voting Shares		5-Feb	344	19.71	R\$ 6,783.68
•	Buy	5-Feb	305	19.72	
Non-Voting Shares	Buy		475		R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	314	19.77	R\$ 6,207.78
Non-Voting Shares	Buy	5-Feb	396	19.78	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68

Non-Voting Shares	Buy	26-Feb	2	20.53	R\$ 41.06
Non-Voting Shares	Buy	5-Feb	1	19.55	R\$ 19.55
Non-Voting Shares	Buy	5-Feb	3	19.61	R\$ 58.83
Non-Voting Shares	Buy	5-Feb	265	19.62	R\$ 5,199.30
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	315	19.77	R\$ 6,227.55
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	393	19.80	R\$ 7,781.40
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
•					
Non-Voting Shares	Buv	5-⊢en	52	19 84	R\$ 1.031.68
Non-Voting Shares	Buy Total	5-Feb	52 710 232	19.84	R\$ 1,031.68
Non-Voting Shares	Total		710,232		R\$ 14,007,219.27
Non-Voting Shares Common Shares	Total Sell	4-Feb	710,232 24	20.45	R\$ 14,007,219.27 R\$ 490.80
Non-Voting Shares Common Shares Common Shares	Total Sell Sell		710,232 24 300		R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00
Non-Voting Shares Common Shares Common Shares Common Shares	Total Sell Sell Total	4-Feb 4-Feb	710,232 24 300 324	20.45 20.73	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell	4-Feb 4-Feb 4-Feb	710,232 24 300 324 45	20.45 20.73 18.60	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00
Non-Voting Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Total Sell Sell	4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500	20.45 20.73 18.60 19.00	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell	4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500	20.45 20.73 18.60 19.00 19.21	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500	20.45 20.73 18.60 19.00 19.21 19.23	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 500 1,000	20.45 20.73 18.60 19.00 19.21 19.23 19.26	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 1,000 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 1,000 500 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 1,000 500 500 100	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 1,974.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 1,000 500 500 100 3,400	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 1,974.00 R\$ 67,218.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 1,000 500 500 100 3,400 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81	R\$ 14,007,219.27
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb	710,232 24 300 324 45 500 500 1,000 500 500 100 3,400 500 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93	R\$ 14,007,219.27
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb	710,232 24 300 324 45 500 500 1,000 500 100 3,400 500 500 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00	R\$ 14,007,219.27
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb	710,232 24 300 324 45 500 500 1,000 500 100 3,400 500 500 500 500 800	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10	R\$ 14,007,219.27
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb	710,232 24 300 324 45 500 500 1,000 500 500 100 3,400 500 500 500 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 9,850.00 R\$ 1,974.00 R\$ 67,218.00 R\$ 9,905.00 R\$ 9,965.00 R\$ 10,000.00 R\$ 16,080.00 R\$ 4,022.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 10-Feb	710,232 24 300 324 45 500 500 1,000 500 100 3,400 500 500 500 500 4,313	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11 19.45	R\$ 14,007,219.27
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 10-Feb 10-Feb	710,232 24 300 324 45 500 500 1,000 500 100 3,400 500 500 500 800 200 4,313 100	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11 19.45 19.46	R\$ 14,007,219.27
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 10-Feb 10-Feb 4-Feb	710,232 24 300 324 45 500 500 500 500 500 500 500 500 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11 19.45 19.46 19.71	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 9,850.00 R\$ 9,950.00 R\$ 1,974.00 R\$ 67,218.00 R\$ 9,905.00 R\$ 9,965.00 R\$ 10,000.00 R\$ 16,080.00 R\$ 4,022.00 R\$ 83,887.85 R\$ 1,946.00 R\$ 76,869.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb	710,232 24 300 324 45 500 500 1,000 500 500 500 500 500 500 500 4,313 100 3,900 100	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11 19.45 19.46 19.71 19.77	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 9,850.00 R\$ 1,974.00 R\$ 67,218.00 R\$ 9,905.00 R\$ 9,965.00 R\$ 10,000.00 R\$ 16,080.00 R\$ 4,022.00 R\$ 83,887.85 R\$ 1,946.00 R\$ 76,869.00 R\$ 76,869.00 R\$ 1,977.00
Non-Voting Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb	710,232 24 300 324 45 500 500 500 1,000 500 500 500 500 500 4,313 100 3,900 100 4,100	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11 19.45 19.46 19.71 19.77 19.85	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 9,825.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 9,850.00 R\$ 9,965.00 R\$ 9,965.00 R\$ 9,965.00 R\$ 10,000.00 R\$ 16,080.00 R\$ 4,022.00 R\$ 83,887.85 R\$ 1,946.00 R\$ 76,869.00 R\$ 76,869.00 R\$ 1,977.00 R\$ 81,385.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb	710,232 24 300 324 45 500 500 1,000 500 500 500 500 500 500 500 4,313 100 3,900 100	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11 19.45 19.46 19.71 19.77	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 9,850.00 R\$ 1,974.00 R\$ 67,218.00 R\$ 9,905.00 R\$ 9,965.00 R\$ 10,000.00 R\$ 16,080.00 R\$ 4,022.00 R\$ 83,887.85 R\$ 1,946.00 R\$ 76,869.00 R\$ 76,869.00 R\$ 1,977.00

Non-Voting Shares	Sell	4-Feb	2,000	19.88	R\$ 39,760.00
Non-Voting Shares	Sell	4-Feb	200	19.89	R\$ 3,978.00
Non-Voting Shares	Sell	4-Feb	2,000	19.90	R\$ 39,800.00
Non-Voting Shares	Sell	4-Feb	90	19.22	R\$ 1,729.80
Non-Voting Shares	Sell	4-Feb	500	18.85	R\$ 9,425.00
Non-Voting Shares	Sell	4-Feb	700	19.07	R\$ 13,349.00
Non-Voting Shares	Sell	4-Feb	500	19.20	R\$ 9,600.00
Non-Voting Shares	Sell	4-Feb	1,000	19.69	R\$ 19,690.00
Non-Voting Shares	Sell	4-Feb	500	19.91	R\$ 9,955.00
Non-Voting Shares	Sell	4-Feb	500	20.03	R\$ 10,015.00
Non-Voting Shares	Sell	10-Feb	100	19.39	R\$ 1,939.00
Non-Voting Shares	Sell	10-Feb	100	19.43	R\$ 1,943.00
Non-Voting Shares	Sell	10-Feb	200	19.45	R\$ 3,890.00
Non-Voting Shares	Sell	10-Feb	200	19.46	R\$ 3,892.00
Non-Voting Shares	Sell	10-Feb	513	19.50	R\$ 10,003.50
Non-Voting Shares	Sell	10-Feb	100	19.52	R\$ 1,952.00
Non-Voting Shares	Sell	10-Feb	100	19.55	R\$ 1,955.00
Non-Voting Shares	Sell	10-Feb	100	19.57	R\$ 1,957.00
Non-Voting Shares	Sell	10-Feb	100	19.58	R\$ 1,958.00
Non-Voting Shares	Sell	10-Feb	100	19.61	R\$ 1,961.00
Non-Voting Shares	Sell	10-Feb	200	19.62	R\$ 3,924.00
Non-Voting Shares	Sell	10-Feb	400	19.65	R\$ 7,860.00
Non-Voting Shares	Sell	10-Feb	200	19.66	R\$ 3,932.00
Non-Voting Shares	Sell	10-Feb	200	19.67	R\$ 3,934.00
Non-Voting Shares	Sell	10-Feb	100	19.68	R\$ 1,968.00
Non-Voting Shares	Sell	10-Feb	200	19.69	R\$ 3,938.00
Non-Voting Shares	Sell	10-Feb	500	19.70	R\$ 9,850.00
Non-Voting Shares	Sell	10-Feb	500	19.71	R\$ 9,855.00
Non-Voting Shares	Sell	10-Feb	300	19.72	R\$ 5,916.00
Non-Voting Shares	Sell	10-Feb	100	19.72	R\$ 1,977.00
Non-Voting Shares	Sell	10-Feb	100	19.78	R\$ 1,978.00
Non-Voting Shares	Sell	16-Feb	5,439	20.00	R\$ 108,780.00
Non-Voting Shares	Sell	16-Feb	3,000	20.00	R\$ 60,060.00
	Sell	16-Feb	3,000		
Non-Voting Shares					R\$ 60,090.00
Non-Voting Shares	Sell	16-Feb	5,000	20.08	R\$ 100,400.00
Non-Voting Shares	Sell	16-Feb	10,000	20.10	R\$ 201,000.00
Non-Voting Shares	Sell	17-Feb	2,399	20.67	R\$ 49,587.33
Non-Voting Shares	Sell	17-Feb	2,100	20.68	R\$ 43,428.00
Non-Voting Shares	Sell	17-Feb	5,000	20.70	R\$ 103,500.00
Non-Voting Shares	Sell	17-Feb	4,340	20.50	R\$ 88,970.00
Non-Voting Shares	Sell	16-Feb	1,418	19.50	R\$ 27,651.00
Non-Voting Shares	Sell	16-Feb	200	19.51	R\$ 3,902.00
Non-Voting Shares	Sell	12-Feb	2,000	19.20	R\$ 38,400.00
Non-Voting Shares	Sell	12-Feb	62	19.25	R\$ 1,193.50
Non-Voting Shares	Sell	29-Feb	30	21.00	R\$ 630.00
Non-Voting Shares	Sell	29-Feb	900	21.02	R\$ 18,918.00
Non-Voting Shares	Sell	23-Feb	45	21.00	R\$ 945.00
Non-Voting Shares	Sell	23-Feb	900	21.01	R\$ 18,909.00
Non-Voting Shares	Sell	17-Feb	1,945	20.60	R\$ 40,067.00
Non-Voting Shares	Sell	17-Feb	1,068	20.50	R\$ 21,894.00
Non-Voting Shares	Sell	17-Feb	1,005	20.42	R\$ 20,522.10

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Sell	17-Feb	700	20.48	R\$ 14,336.00
Non-Voting Shares	Sell	17-Feb	700	20.50	R\$ 14,350.00
Non-Voting Shares	Sell	17-Feb	300	20.51	R\$ 6,153.00
Non-Voting Shares	Sell	17-Feb	2,799	20.50	R\$ 57,379.50
Non-Voting Shares	Sell	4-Feb	250	18.65	R\$ 4,662.50
Non-Voting Shares	Sell	4-Feb	200	18.90	R\$ 3,780.00
Non-Voting Shares	Sell	4-Feb	500	19.22	R\$ 9,610.00
Non-Voting Shares	Sell	4-Feb	8,200	20.10	R\$ 164,820.00
Non-Voting Shares	Sell	4-Feb	1,800	20.12	R\$ 36,216.00
Non-Voting Shares	Sell	4-Feb	76	18.90	R\$ 1,436.40
Non-Voting Shares	Sell	4-Feb	12	19.00	R\$ 228.00
Non-Voting Shares	Sell	4-Feb	100	18.80	R\$ 1,880.00
Non-Voting Shares	Sell	4-Feb	300	18.92	R\$ 5,676.00
Non-Voting Shares	Sell	4-Feb	100	18.93	R\$ 1,893.00
Non-Voting Shares	Sell	4-Feb	100	18.98	R\$ 1,898.00
Non-Voting Shares	Sell	4-Feb	300	19.22	R\$ 5,766.00
Non-Voting Shares	Total		106,449		R\$ 2,129,758.48
	Closi	ng Balance			

% of participation

Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares	138,502	0.0054 0.0027
Non-Voting Shares	3,101,279	0.1228 0.0614

Note:

New member who belong to the Board of Executive

Officers

Jefferson Ricardo Romon

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.							
Group and Family Dependants	()Board of Directors	() Board of Executive Officers	(X) Audit Committee	() Technic Advisory A			
	Openning I	Balance					
				% of partic	ipation		
Type of Securities/D	erivatives		Quantity	Same type of Shares	Total		
Common Shares			30,471	0.0012	0.0006		
Non-Voting Sh	ares		443,758	0.0175	0.0087		
	Closing B	alance					
				% of partic	ipation		
Type of Securities/D	erivatives		Quantity	Same type of Shares	Total		
Common Sha	res		30,471	0.0012	0.0006		
Non-Voting Sha	ares		443,758	0.0175	0.0087		

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.							
Group and Family Dependants	()Board of Directors	() Board of Executive Officers	() Audit Committee	(x) Technic Advisory A			
	Openning E	Balance					
				% of partic	ipation		
Type of Securities/D	erivatives		Quantity	Same type of Shares	Total		
Common Sha	res		1,540	0.0000	0.0000		
Non-Voting Sh	ares		3,976	0.0001	0.0000		
	Closing Ba	alance					
				% of partic	ipation		
Type of Securities/D	erivatives		Quantity	Same type of Shares	Total		
Common Sha Non-Voting Sh			1,540 3,976		0.0000		
9 -			-,				

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: S.A. CPF/CNPJ: 60.746.948/0001-12

Qualification: Treasury

Openning Balance

Type of Securities/Derivative	ves Quantity	Same type of Shares		Total
Common Shares	4,159,132		0.1647	0.0823
Non-Voting Shares	15,583,262		0.6173	0.3086
		Closing Balance		
		% of participat	tion	
Type of Securities/Derivative	ves Quantity	Same type of Shares		Total
Common Shares	4,159,132		0.1647	0.0823
Non-Voting Shares	15,583,262		0.6173	0.3086

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

2bCapital

Name: Participações Ltda CPF/CNPJ: 11.814.208/0001-60

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000	0.0000 0.0000	
Closing Balance % of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: 2bCapital S.A CPF/CNPJ: 07.063.675/0001-29

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ADC Bradesco - Associação

Name: Desportiva Classista CPF/CNPJ: 51.244.101/0001-49

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000			
Closing Balance							
		% of participa	ation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Ágora Corretora de Títulos e

Name: Valores Mobiliários S.A CPF/CNPJ: 74.014.747/0001-35

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing E	Balance	0.0000 0.0000	0.0000 0.0000
	J	% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Ágora Educacional

Name: Ltda CPF/CNPJ: 09.544.124/0001-02

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participati	on	
Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aicaré Holdings

Name: Ltda CPF/CNPJ: 09.235.141/0001-68

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/DerivativesQ	uantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000 0.0000
Non-voiling offaires	U	Closing Balance	0.0000	0.0000
		% of participation	on	
Type of Securities/DerivativesQ	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada Administradora de

Name: Cartões Ltda CPF/CNPJ: 01.382.421/0001-97

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000	0.0000 0.0000	
Closing Balance					
		% of participa	tion		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada Companhia Securitizadora

Name: de Créditos Financeiros CPF/CNPJ: 03.572.412/0001-94

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0	0.00	
Closing Balance % of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.00	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada Serviços e

Name: Negócios Ltda CPF/CNPJ: 50.991.421/0001-08

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0	0.00	
rton voling onaros		osing Balance	0.0000
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.00 0.00	
G			

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Amapari Holdings

Name: S.A CPF/CNPJ: 15.012.678/0001-61

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/DerivativesQu	antity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000	0.0000 0.0000
Non-voiling Snares	U	Closing Balance	0.0000	0.0000
		% of participation	n	
Type of Securities/DerivativesQu	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Andorra Holdings

Name: S.A CPF/CNPJ: 08.503.501/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/DerivativesQua	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0	Closing Balance	0.0000	0.0000
		<u> </u>		
		% of participation	on	
Type of Securities/DerivativesQua	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aporé Holdings

Name: S.A CPF/CNPJ: 15.011.651/0001-54

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/DerivativesQ	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation	n	
Type of Securities/DerivativesQ	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aquarius Holdings

Name: Ltda CPF/CNPJ: 04.866.440/0001-87

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives Qu	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participati	on	
Type of Securities/Derivatives Qu	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aranaú Holdings

Name: S.A CPF/CNPJ: 15.011.846/0001-02

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/DerivativesQ	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
<u> </u>		Closing Balance		
		% of participati	on	
Type of Securities/DerivativesQ	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ARFAB - Associação Recreativa dos

Name: Funcionários da Atlântica-Bradesco CPF/CNPJ: 42.413.153/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-	Closing Balance		
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Atlântica Companhia de

Name: Seguros CPF/CNPJ: 33.151.291/0001-78

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.000 0.000	
Non-voiling Snares		Closing Balance	0.0000
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.000 0.000	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Baíra Holdings

Name: Ltda CPF/CNPJ: 10.429.085/0001-81

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/DerivativesC	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participati	on	
Type of Securities/DerivativesC	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Alvorada

Name: S.A CPF/CNPJ: 33.870.163/0001-84

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/DerivativesC	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation	on	
Type of Securities/DerivativesC	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Boavista

Name: Interatlântico S.A CPF/CNPJ: 33.485.541/0001-06

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	7,904	0.0003	0.0001
Non-Voting Shares	7,585 (0.0003 Closing Balance	0.0001
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	7,904 7,585	0.0003 0.0003	0.0001 0.0001

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradescard

Name: S.A CPF/CNPJ: 04.184.779/0001-01

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives Qu	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participation		
Type of Securities/Derivatives Qu	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco BBI

Name: S.A CPF/CNPJ: 06.271.464/0001-19

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives Quantum Control of Securities	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
G		Closing Balance		
		% of participat	ion	
Type of Securities/Derivatives Quantum Control of Securities (Derivatives Quantum Control of Securities)	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: BERJ S.A CPF/CNPJ: 33.147.315/0001-15

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation	on	
Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: Cartões S.A CPF/CNPJ: 59.438.325/0001-01

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
		Closing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: Financiamentos S.A CPF/CNPJ: 07.207.996/0001-50

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000 0.0000
14011 Voting Offacos		sing Balance		0.0000
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco CBSS

Name: S.A CPF/CNPJ: 27.098.060/0001-45

Qualification: Controlled / Related Company

Openning Balance

т ,		' '		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Baneb Corretora de

Name: Seguros S.A CPF/CNPJ: 14.560.304/0001-18

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000
Non-voling Shares		Closing Balance	0.0000
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bankpar Brasil

Name: Ltda CPF/CNPJ: 34.046.581/0001-14

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/DerivativesQu	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participatio	n	
Type of Securities/DerivativesQu	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bankpar Consultoria e

Name: Serviços Ltda CPF/CNPJ: 67.529.289/0001-01

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000	0.0000 0.0000
rton voling onaros		sing Balance	0.0000	0.0000
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Barinas Holdings

Name: S.A CPF/CNPJ: 15.011.336/0001-27

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/DerivativesQ	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participati	on	
Type of Securities/DerivativesQ	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BCN - Consultoria, Administração de

Name: Bens, Serviços e Publicidade Ltda CPF/CNPJ: 52.842.408/0001-04

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-	Closing Balance		
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BEC - Distribuidora de Títulos e

Name: Valores Mobiliários Ltda CPF/CNPJ: 07.299.480/0001-82

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0 Closing Ba		0.0000	0.0000
	_	% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BEM - Distribuidora de Títulos e

Name: Valores Mobiliários Ltda CPF/CNPJ: 00.066.670/0001-00

Qualification: Controlled / Related Company

Openning Balance

Quantity	Same type of Shares	Total
0	0.0	0.0000
0	0.0	0.0000
Closing Ba	lance	
	% of participation	1
Quantity	Same type of Shares	Total
0	0.0	0.0000
0	0.0	0.0000
	0 0 Closing Ba Quantity	O 0.0 Closing Balance Quantity Same type of Snares 0 0.0 Contract type of Snares % of participation Same type of Shares 0 0.0

Edgar Filing: BANK BRADESCO - Form 6-K

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BF Promotora de

Name: Vendas Ltda CPF/CNPJ: 02.038.394/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	-	Closing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BMC Asset Management - Distribuidora

Name: de Títulos e Valores Mobiliários Ltda CPF/CNPJ: 04.163.016/0001-76

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing Balance		
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Edgar Filing: BANK BRADESCO - Form 6-K

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BMC Previdência

Name: Privada S.A CPF/CNPJ: 07.622.099/0001-02

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares Non-Voting Shares	0 0	Olasia y Balaysa	0.0000 0.0000	0.0000 0.0000		
Closing Balance						
		% of participat	ion			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BP Promotora de

Name: Vendas Ltda CPF/CNPJ: 07.131.760/0001-87

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000	0.0000 0.0000
rton voung endree	Ü	Closing Balance		0.0000
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bpar Corretagem de

Name: Seguros Ltda CPF/CNPJ: 43.133.503/0001-48

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Quantity Same type of Shares To				
Common Shares Non-Voting Shares	0 0	0.0000				
Closing Balance						
		% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares	0	0.0000				
Non-Voting Shares	0	0.0000	0.0000			

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BPS Participações e

Name: Serviços Ltda CPF/CNPJ: 02.858.535/0001-23

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares Non-Voting Shares	0 0	0.0000 0.0000				
Closing Balance						
		% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares Non-Voting Shares	0 0	0.0000 0.0000				

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradescard Elo

Name: Participações S.A CPF/CNPJ: 09.226.818/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares Non-Voting Shares	0 0	0.0000 0.0000				
Closing Balance						
		% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares Non-Voting Shares	0 0	0.0000 0.0000				

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Administradora de

Name: Consórcios Ltda CPF/CNPJ: 52.568.821/0001-22

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		
	Closing	Balance				
	% of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Auto/RE

Name: Companhia de Seguros CPF/CNPJ: 92.682.038/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			
Closing Balance							
		% of participa	tion				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco

Name: Capitalização S.A CPF/CNPJ: 33.010.851/0001-74

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives Qua	antity	Same type of Shares		Total
Common Shares	0	0	.0000	0.0000
Non-Voting Shares	0	0	.0000	0.0000
•		Closing Balance		
		% of participation		
Type of Securities/Derivatives Qua	antity	Same type of Shares		Total
Common Shares	0	0	.0000	0.0000
Non-Voting Shares	0	0.	.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Leasing S.A. -

Name: Arrendamento Mercantil CPF/CNPJ: 47.509.120/0001-82

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			
	Closing E	Balance					
	% of participation						
Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In January 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bradesco S.A. Corretora de Títulos e Valores Mobiliários CPF/CNPJ: 61.855.045/0001-32

Qualification: Controlled / Related Company

Openning Balance

					•	
e of Securities	Derivatives (Quant	ity	Same type of Shares	Total
	Shares	th Move		1,991 10,657		
Broker	Operation	Day	Quantity	Price	Value in R\$	
	Buy	2-Feb	162	19.00	R\$ 3	,078.00
	Buy	3-Feb	333	20.20	R\$ 6	,726.60
	Buy	4-Feb	240	21.55	R\$ 5	,172.00
	Buy	10-Feb	727	21.02	R\$ 15	,281.54
	Buy	11-Feb	610	20.66	R\$ 12	,602.60
	Buy	12-Feb	3,458	20.73	R\$ 71	,684.34
	Buy	16-Feb	250	21.40	R\$ 5	,350.00
	Buy	18-Feb	1,209	21.52	R\$ 26	,017.68
	Buy	29-Feb	643	23.27	R\$ 14	,962.61
	Total		7,632		D¢ 160	075 27
	Buy	2-Feb	11	17.85		196.35
	Common Sh Non-Voting S	Broker Operation Buy Buy Buy Buy Buy Buy Buy Buy Buy Bu	Common Shares Non-Voting Shares Broker Operation Day Buy 2-Feb Buy 3-Feb Buy 10-Feb Buy 11-Feb Buy 12-Feb Buy 12-Feb Buy 12-Feb Buy 18-Feb Buy 29-Feb	Common Shares Non-Voting Shares Month Movement Broker Operation Day Quantity Buy 2-Feb 162 Buy 3-Feb 333 Buy 4-Feb 240 Buy 10-Feb 727 Buy 11-Feb 610 Buy 12-Feb 3,458 Buy 16-Feb 250 Buy 18-Feb 1,209 Buy 29-Feb 643 Total 7,632	Common Shares Non-Voting Shares 1,991 10,657 Month Movement Month Movement Price Broker Operation Day Quantity Price Buy 2-Feb 162 19.00 Buy 3-Feb 333 20.20 Buy 4-Feb 240 21.55 Buy 10-Feb 727 21.02 Buy 11-Feb 610 20.66 Buy 12-Feb 3,458 20.73 Buy 16-Feb 250 21.40 Buy 18-Feb 1,209 21.52 Buy 29-Feb 643 23.27 Total 7,632 1,632 1,632	Same type of Shares Common Shares 1,991 0.0000 Month Movement Month Movement Value in R\$ Broker Operation Day Quantity Price Value in R\$ Buy 2-Feb 162 19.00 R\$ 3 Buy 3-Feb 333 20.20 R\$ 6 Buy 4-Feb 240 21.55 R\$ 5 Buy 10-Feb 727 21.02 R\$ 15 Buy 11-Feb 610 20.66 R\$ 12 Buy 12-Feb 3,458 20.73 R\$ 71 Buy 16-Feb 250 21.40 R\$ 5 Buy 18-Feb 1,209 21.52 R\$ 26 Buy 29-Feb 643 23.27 R\$ 14 Total 7,632 R\$ 160

Non-Voting Shares					
Non-Voting Shares	Buy	3-Feb	893	18.71	R\$ 16,708.03
Non-Voting Shares	Buy	11-Feb	2,937	19.24	R\$ 56,507.88
Non-Voting Shares	Buy	16-Feb	3,757	19.99	R\$ 75,102.43
Non-Voting Shares	Buy	17-Feb	1,043	20.21	R\$ 21,079.03
Non-Voting Shares	Buy	18-Feb	1,960	19.80	R\$ 38,808.00
Non-Voting Shares Non-Voting	Buy	22-Feb		20.92	R\$ 2,133.84
Shares Non-Voting	Buy	25-Feb		20.62	R\$ 8,639.78
Shares Non-Voting	Buy	29-Feb		21.34	R\$ 16,581.18
Shares	Total		11,899		R\$ 235,756.52
Common Shares	Sell	1-Feb	470	19.83	R\$ 9,320.10
Common	Oeli	1-1 60	000	00.00	1 φ 3,020.10
Shares	Sell	5-Feb	923	20.88	R\$ 19,272.24
Common	Call	15 Fab	4,708	20.82	D# 00 000 F0
Shares Common	Sell	15-Feb			R\$ 98,020.56
Shares	Sell	17-Feb	721	21.59	R\$ 15,566.39
Common			000	01.00	, ,,,,,,,,
Shares	Sell	19-Feb	208	21.60	R\$ 4,492.80
Common	0 "		200	22.80	D4 / 500 00
Shares	Sell	22-Feb			R\$ 4,560.00
Common Shares	Sell	23-Feb	80	22.63	R\$ 1,810.40
Common	OCII	20 1 60	740	00.04	πφ 1,010.40
Shares	Sell	24-Feb	/13	22.64	R\$ 16,142.32
Common Shares	Sell	25-Feb	530	22.67	R\$ 12,015.10
Common Shares	Sell	26-Feb	286	22.48	R\$ 6,429.28
Common Shares	Total		8,839		R\$ 187,629.19
Non-Voting			-	10.00	114 101,020110
Shares	Sell	1-Feb	3,065	18.62	R\$ 57,070.30
Non-Voting	0 "	. = .	27	19.73	D4
Shares Non-Voting	Sell	4-Feb			R\$ 532.71
Shares	Sell	5-Feb	1,779	19.53	R\$ 34,743.87
Non-Voting			00	10.75	
Shares	Sell Sell	10-Feb		19.75	R\$ 1,935.50
		12-Feb	0 00 4	19.30	R\$ 46,146.30

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Sell Sell Sell	15-Feb 19-Feb 23-Feb	630 1 4,100 1 2,791 2	19.88	R\$ 81	2,159.00 ,508.00 7,829.52
Non-Voting Shares Non-Voting Shares Non-Voting	Sell	24-Feb	902 2	20.68	R\$ 18	,653.36
	Sell	26-Feb	1,150 2	20.68	R\$ 23	3,782.00
Shares	Total		16,933		R\$ 334	,360.56
		Closing Balan			% of participation	1
	Type of Securities/Derivatives		Quantity	y	Same type of Shares	Total
	Common Shares Non-Voting Shares		Ę	784 5,623	0.0000 0.0002	0.0000 0.0001

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Saúde

Name: S.A CPF/CNPJ: 92.693.118/0001-60

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/DerivativesQua	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participation	n	
Type of Securities/DerivativesQua	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco SegPrev

Name: Investimentos Ltda CPF/CNPJ: 07.394.162/0001-09

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		
Closing Balance						
		% of participa	tion			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Seguros

Name: S.A CPF/CNPJ: 33.055.146/0001-93

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives Qua	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participation	on	
Type of Securities/Derivatives Qua	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Vida e

Name: Previdência S.A CPF/CNPJ: 51.990.695/0001-37

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000			
Closing Balance						
		% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000			

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradescor Corretora de

Name: Seguros Ltda CPF/CNPJ: 43.338.235/0001-09

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			
Closing Balance							
		% of participa	tion				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesplan

Name: Participações Ltda CPF/CNPJ: 61.782.769/0001-01

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		
Closing Balance						
		% of participat	ion			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradseg

Name: Participações S.A CPF/CNPJ: 02.863.655/0001-19

Qualification: Controlled / Related Company

Openning Balance

		·		
Type of Securities/Derivatives Qua	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
· ·		Closing Balance		
		% of participati	on	
Type of Securities/Derivatives Qua	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradseg Promotora de

Name: Vendas S.A CPF/CNPJ: 10.428.992/0001-06

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		
Closing Balance						
		% of participation	n			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bram - Bradesco Asset

Name: Management S.A. DTVM CPF/CNPJ: 62.375.134/0001-44

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total				
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000				
	Closing Balance							
		% of participa	ation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total				
Common Shares	0		0.0000	0.0000				
Non-Voting Shares	0		0.0000	0.0000				

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bréscia Empreendimentos e

Name: Participações Ltda CPF/CNPJ: 08.427.630/0001-59

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0 Closing E	Balance	0.0000 0.0000	0.0000 0.0000	
	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Affinity

Name: Ltda CPF/CNPJ: 08.977.053/0001-79

Qualification: Controlled / Related Company

Openning Balance

_ ,				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participation	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimento

Name: Imobiliário D166 Ltda CPF/CNPJ: 10.430.696/0001-40

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0 Closin	a Palanaa	0.0000	0.0000
Closing Balance				
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimento

Name: Imobiliário D167 Ltda CPF/CNPJ: 10.430.769/0001-01

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closi r	ng Balance	0.0000 0.0000	0.0000 0.0000
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D102 Ltda CPF/CNPJ: 14.310.249/0001-08

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing I	Balance	0.0000 0.0000	0.0000 0.0000
	0.00g	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D103 Ltda CPF/CNPJ: 20.505.637/0001-47

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing l	Balance	0.0000 0.0000	0.0000 0.0000
	0.00g	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D104 Ltda CPF/CNPJ: 20.505.627/0001-01

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing l	Balance	0.0000 0.0000	0.0000 0.0000
	0.00g	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D105 Ltda CPF/CNPJ: 20.505.621/0001-34

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing l	Balance	0.0000 0.0000	0.0000 0.0000
	0.00g	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D106 Ltda CPF/CNPJ: 20.505.658/0001-62

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing l	Balance	0.0000 0.0000	0.0000 0.0000
	0.00g	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D107 Ltda CPF/CNPJ: 20.505.963/0001-54

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Balance	0.0000 0.0000	0.0000 0.0000
	3	% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D108 Ltda CPF/CNPJ: 20.505.933/0001-48

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing l	Balance	0.0000 0.0000	0.0000 0.0000
	0.00g	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D109 Ltda CPF/CNPJ: 20.505.923/0001-02

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing I	Balance	0.0000 0.0000	0.0000 0.0000
	0.00g	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D110 Ltda CPF/CNPJ: 20.505.912/0001-22

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000	
Closing Balance					
		% of participation	tion		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000	0.0000	
Tion Tolling Offaroo	•		0.0000	3.0000	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D111 Ltda CPF/CNPJ: 20.505.903/0001-31

Qualification: Controlled / Related Company

Openning Balance

Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing	Balance		
·	% of participa	ition	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	0 0 Closing Quantity	O Closing Balance % of participal Same type of Shares O Same type of Shares	O 0.0000 O 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D112 Ltda CPF/CNPJ: 20.505.887/0001-87

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Palana	0.0000 0.0000	0.0000 0.0000
	Closing			
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D113 Ltda CPF/CNPJ: 20.505.868/0001-50

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing I	Balance	0.0000 0.0000	0.0000 0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D114 Ltda CPF/CNPJ: 20.505.952/0001-74

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Balance	0.0000 0.0000	0.0000 0.0000
	O.Comig	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D115 Ltda CPF/CNPJ: 20.505.943/0001-83

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing I	Balance	0.0000 0.0000	0.0000 0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D116 Ltda CPF/CNPJ: 20.529.645/0001-23

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Balance	0.0000 0.0000	0.0000 0.0000
	3	% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D117 Ltda CPF/CNPJ: 20.529.636/0001-32

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing I	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D118 Ltda CPF/CNPJ: 20.529.620/0001-20

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D119 Ltda CPF/CNPJ: 20.529.605/0001-81

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Balance	0.0000 0.0000	0.0000 0.0000
	3	% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D120 Ltda CPF/CNPJ: 20.529.600/0001-59

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Balance	0.0000 0.0000	0.0000 0.0000
	3	% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D121 Ltda CPF/CNPJ: 20.529.584/0001-02

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D122 Ltda CPF/CNPJ: 20.594.000/0001-74

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D123 Ltda CPF/CNPJ: 20.594.010/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing I	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D124 Ltda CPF/CNPJ: 20.593.987/0001-02

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing I	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D125 Ltda CPF/CNPJ: 20.593.972/0001-44

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000	0.0000
Tion Volling Charos		g Balance	0.0000	0.0000
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D126 Ltda CPF/CNPJ: 20.593.963/0001-53

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Palanaa	0.0000 0.0000	0.0000 0.0000
	Closing			
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D127 Ltda CPF/CNPJ: 20.593.953/0001-18

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closina	Balance	0.0000 0.0000	0.0000 0.0000
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D128 Ltda CPF/CNPJ: 20.593.922/0001-67

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closin g	Balance	0.0000 0.0000	0.0000 0.0000
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D129 Ltda CPF/CNPJ: 20.618.121/0001-09

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closina	Balance	0.0000 0.0000	0.0000 0.0000
	3	% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D130 Ltda CPF/CNPJ: 20.608.183/0001-30

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Balance	0.0000 0.0000	0.0000 0.0000
	3	% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D131 Ltda CPF/CNPJ: 20.608.008/0001-42

Qualification: Controlled / Related Company

Openning Balance

Quantity	Same type of Shares		Total
0		0.0000	0.0000
	Balance	0.0000	0.0000
_	% of participa	ation	
Quantity	Same type of Shares		Total
0 0		0.0000 0.0000	0.0000 0.0000
	0 0 Closing Quantity	O Closing Balance Quantity Same type of Snares % of participal Same type of Shares	O 0.0000 O 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D132 Ltda CPF/CNPJ: 20.607.980/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closin g	g Balance	0.0000 0.0000	0.0000 0.0000
	•	% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D133 Ltda CPF/CNPJ: 20.609.154/0001-92

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•	Closing	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D134 Ltda CPF/CNPJ: 20.608.465/0001-37

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Non Voting Onares	Closing	Balance	0.0000	0.0000
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D135 Ltda CPF/CNPJ: 20.607.961/0001-76

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	
	Closing	Balance			
		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D136 Ltda CPF/CNPJ: 20.608.191/0001-86

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			
Closing Balance							
	J	% of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			